Junior Hindi Translator Junior Translator and Senior Hindi Translator
Examination 2020

[Roll Number
Candidate Name
Venue Name iON Digital Zone iDZ 2 Mathura Road
Exam Date 19/11/2020
Exam Time 10:00 AM - 12:00 PM
Subject Junior Hindi Translator
Q.1

(1) BN (2) TR amsi(3) @ ¥(4) F(5) TeTE 9X(6)

FH "&ar (1) X (2) & 91 99T G &7 Wl HH F4T grem?

Ars X 1.8, 5, 4,
v26, 35,4
X33,54,6
X4+5 4,86 3

Question ID : 6549781702
Status : Answered
Chosen Option : 2

*? Crafafle § @ Fi9ur o W F qatTEE S84 #2
Ans o =z

X2 78

X Brem

X 4 T

Question ID : 6549781659
Status : Answered
Chosen Option : 1

O T & ¥ T T yeuwor I T 2
Ans o T

K23

X3

K4 w

Question ID : 6549781643
Status : Answered
Chosen Option: 1

Page -2



O oy w e g
Ans &1 BT

X 2w

X 3 o

v 4 g@rer

Question ID : 6549781665
Status : Answered
Chosen Option : 4

Q.5

AT FT F@iO-=oe Far gem?
Ans XK. AFH + A9

X2 Ag + 9

X mar + O

o 4 HE + J9

Question ID : 6549781678
Status : Answered
Chosen Option : 4

Q.6

frrfaf@a & & #ia @ a=v g2 32

Ans

X 1. et # @ graw @1 deaaa 3uUE et

X 2 Tt # g0 qras &1 Feaaa 39ET g
v
faeanfidt & v 57 grae &1 seggs 39aE gem

X+ et # g7 qraw &1 e 39AE geEt

Question ID : 6549781626
Status : Answered
Chosen Option : 3

T sma e o & g vue & e sugea oo stawr g
Ans X1 T4l

v 2 TEEr

X 3 TEar

K 4 ferar

Question ID : 6549781656
Status : Answered
Chosen Option : 2

Page -3




** ARE # Ao A 3 F vl gEe e &2
Ans %1 ETYT ST

X 2 & TH FE

v BT BeTET

X< 4 BT AT

Question ID : 6549781684
Status : Answered
Chosen Option : 3

9 apt ¥ wEyw @ aer ¥ v G #§ @ s o 2
s o i

X 2. HETERITA

< 3z

X 4 sraEias

Question ID : 6549781672
Status : Answered
Chosen Option : 1

O T § ¥ 3Oy e BT T &7
Ans  of 1 T

K2

Ko

P

Question ID : 6549781645
Status : Answered
Chosen Option: 1

O gt & P @ gEw 32

Ans

Question ID : 6549781680
Status : Answered
Chosen Option: 1

Page -4




O ST & @ ST O S onds B 32
Ans X13ﬂ?ﬂ

v 2 R

X 3. ofarer

X 4 FAETAT

Question ID : 6549781635
Status : Answered
Chosen Option : 2

IFT HITAT T Har FH FT 22
Ans S 1,.2,4; 3

v21,324

733,241

<4312 4

Question ID : 6549781705
Status : Answered
Chosen Option : 2

M SR # ¥ &Y T #la & 7
Ans X13-ﬂ'

vog

K3

XaT

Question ID : 6549781646
Status : Answered
Chosen Option : 4

Q15 Sy grer AT 1 T F v Rl # O SlFwr o e

Ans X AT
X 2 ofAm
v of@T
X 4 HTEES

Question ID : 6549781676
Status : Answered
Chosen Option : 2

Page-5




O e I REE 2T
Ans o 1 HEL

X 2. FTUT
X o gffe

X 4 st

Question ID : 6549781663
Status : Answered
Chosen Option : 1

Q7 =3 e Rl R T & BT s9gET o Haar aem?

Ans X1a-1.g;n.
v 2 LT
& 3. AT
< 4 I

Question ID : 6549781653
Status : Answered
Chosen Option : 2

P PrefRE # ¥ FiF @ g g B2
X g 3EE AR Al

X 2 gH 30 AN B

X 5. gH FHH AN &l

v o gH 3HR AR g

Question ID : 6549781624
Status : Answered
Chosen Option : 4

Page-6




P R & @ Fi9 a1 g g 2

e X 3g HoeAr ST AT o 9Rm
X 2 g 39T 394 Fel °T 9ram|
V'3 Ig HUST 394 Far o 9|
X 4 g HUAT Ia Fer °T 9ram|

Question ID : 6549781631
Status : Answered
Chosen Option : 3

0 Cpafafla & ¥ 9y goT #ia @ 2
Ans X1 F

vog

X g

K4 T

Question ID : 6549781644
Status : Answered
Chosen Option: 1

02 aferat $r(1)y dorQ) FE [(3) TH(4) THE) F THI(6)

FH TEW (1) 3T (2) & 91 99 U1 F G&T FH FAT 22
Ans X 1.18,3,4,5

v28, 354

~ 35,6, 3 4

<486,5 3 4

Question ID : 6549781701
Status : Answered
Chosen Option : 2

Page -7




02 =L 1 FEER ¥ v eRilT & ¥ b o 22

KO e
v 2 sfagEs
X 3 faga=
< 4 gt

Question ID : 6549781673
Status : Answered
Chosen Option : 2

0% Srafaf@a § ¥ #iF o a=g JeuT T8 3

e K. gtem
X 2 EreT
v Y
< 4 ofrger

Question ID : 6549781669
Status : Answered
Chosen Option : 3

O g W el g

Ans X gUIAe
o 2 F9ET

X 4 emeEd

Question ID : 6549781666
Status : Answered
Chosen Option : 2

Page -8




Q2 Fg(1) TH(2)/ FTF V() FETF(4) TAT F(5)/ aTEI(6)

FH TEar (1) 37 (2) F 91 99T TIEAT T HET FH F4AT gE?

Ans 91794, B, 5
X124 35 6
vs34,3865
X43,6,5 4

Question ID : 6549781699
Status : Answered
Chosen Option : 3

V* PrefRd & ¥ P9 @ T g 37

ins X1 faTT 3OS SIEeT e AT o
K 2 HTIH BISHT TAT 3T o)
v 3 3T BisaR Tl 3T o
X o TRET AR BisaT TT AT

Question ID : 6549781628
Status : Answered
Chosen Option : 3

V' e § ¥ Fi9 @1 T gE 22
X wE uY W e O B
v TE oY ¥ G gl

Ko TE Y ¥ ST F T B

X o TE AT W @A T B

Question ID : 6549781627
Status : Answered
Chosen Option : 4

Page-9




O Ry e & e T cRRe @ ad e w32

A X wmE ¥ @ & suEueT 9saT

X2 e & 91 ff 179U gl

< 3. FTHE FATCT g9 & BE g AT

v gE H & e wsa

Question ID : 6549781685
Status : Answered
Chosen Option : 3

Q.29

Fr FE 98 FT gI9AH 87
X 1. e
X 2 Fsams
v 3 geETE
X 4 IOHdTHR

Ans

o
Question ID : 6549781632
Status : Answered
Chosen Option : 3
.30 :
O AT TS Y T A far faomor &1
ans X1 i
< 2 Ferdr
v as
Xy

Question ID : 6549781649
Status : Answered
Chosen Option : 3

O3 g frwe woEERh 2
Ans X1_q-5q-

=

o 2 9T

a-crl
K4 gdg

Question ID : 6549781661
Status : Answered
Chosen Option : 1

Page-10




V¥ i & ¥ Fi9 @1 9w g 2

e X mg T @ o HEEr B
X 2 Og 3T T FT A g
X 3 T T F TS T 2
v\ g I T HFAT o 2

Question ID : 6549781629
Status : Answered
Chosen Option : 4

033 o goa T PR A @ ¥ PO Paft@ & @ s aeg 22
Ans 1. TOATH

X 2 FHeqdH

v 3 3==EaA

K 4 e

Question ID : 6549781674
Status : Answered
Chosen Option : 3

¥ ST & @ ‘ame weE i 22
Ans o 1. ETY

< 2 ey

X o g

K4 FeT

Question ID : 6549781667
Status : Answered
Chosen Option : 1

O PEAf@E § ¥ Fga=T F 3EEI0 RiFar 27
e X AT EET e B

X 2 oter ¥ g ofr FEF Fra

v i g & 3 T

X 4 F® g&T A S|

Question ID : 6549781650
Status : Answered
Chosen Option : 3

Page-11




O3 Riam(1)y =7 & BR(2)/ 2 M(3) FW(4) qECATA(E) T F(6)

FH TEAT (1) 3R (2) & aic ITFT TITAT FT TaT HH FIAT grem?
s X184, 3 5

<24 3,6, 5

X35,6 43

v+86,5 4 3

Question ID : 6549781703
Status : Answered
Chosen Option : 4

Q37 v gor ¥ T 2 F A ST F fow Waf@e # @ Fawr aw geme?
Ans X], 9aTy
v 2 Ea

X 3. 3T
X 4 HIOF
Question ID : 6549781675
Status : Answered
Chosen Option : 2
Q.38 gz Haar 3=® #@1F e ¢ Rea w= & BT s9gea weg Sl g
S AR Gl
A2 e
X 3 grerar

< 4 g

Question ID : 6549781652
Status : Answered
Chosen Option: 1

Page-12




O3 zmramAE(1) F(2) FE(3) EraF(4)

I HITT T HWET FH F4T 27
s of1.4,2,1,3

29,4 F 3

K34 .2 3 1

X413 4,2

Question ID : 6549781704
Status : Answered
Chosen Option : 1

M afFwal aRer gEEY G HY F E2
Ans X1mm

v 2 FTI T
X 3. HATHR FLAT
X 4 ghr LT

Question ID : 6549781683
Status : Answered
Chosen Option : 2

4 gy @ gHEEr g
Ans X Hﬁ?{

v 2 FEA

K 3. HeA

K 4 TEA

Question ID : 6549781658
Status : Answered
Chosen Option : 2

M At o= @ e MwifRd HU F HT T RS 32

As o 1. gt
&< 2. HIOT
X 3 HHET
X 4 FITEH

Question ID : 6549781639
Status : Answered
Chosen Option: 1

Page-13




W qeresw v B 9ER @ HeTT B2

Are X1 eirereTeres
v 2 g
X 3 gErg aees
A 4 eI S

Question ID : 6549781648
Status : Answered
Chosen Option : 2

M i wdEE F1 TREvEEE BT F1T gen?
Ans X.Ihr

V' R

X3 g

X 4 B

Question ID : 6549781636
Status : Answered
Chosen Option : 2

P RremfafEa & @ e aeg I8 A R @ anE 22
At 1 TR

< 2 faRgofh

X o fafegoh

X 4 drgulr

Question ID : 6549781671
Status : Not Answered
Chosen Option : --

P T T R o as SR P

Ans

A e
X 2 Fae
K oad

o 4 FFTeT

Question ID : 6549781641
Status : Answered
Chosen Option : 4

Page- 14




Q.47

‘QUTH AT & IFT &
v oot adEe

X 2 HTAET TaAE
X 3 gHEw aIH A
X 4 greRfas IaATT

FTeT 27

Question ID : 6549781647
Status : Answered
Chosen Option : 2

Ans «1. EE_SW%-

X 2 g
Ko gEed
X 4. feeT

V9 g & @l o TEw 32

Question ID : 6549781681
Status : Answered
Chosen Option : 2

s of 1 =9
A 2 g
X 3. g1
X 4 FTEd

P TrefRE & ¥ FiF @ wee gfee 87

Question ID : 6549781640
Status : Answered
Chosen Option: 1

Ans X mEr + 3T
V2 A + HR
A3 AT + FW
K o FF + W

%0 gy w7 g-fa=Re Far B

Question ID : 6549781679
Status : Answered
Chosen Option : 2

D
iy
(€]

rage




O que @ SEEEEn T
Ans o FaT

K 2 FHIT

){3.dﬁqy'

X o wferer

Question ID : 6549781657
Status : Answered
Chosen Option : 1

W rfaEE # @ FF @ T e 27
K e srEeT g A

X 2 39 T G T

o AR HELT FAT g

XK o 3T T G gl

Question ID : 6549781623
Status : Answered
Chosen Option : 3

* frefRd & ¥ FiF @ T = 22
K FER HEaEEs F O R
X 2 $HS gEAHF W o= S|
v o FH TFAEE U el

X 4 WA FFagEd H 9= Tl

Question ID : 6549781630
Status : Answered
Chosen Option : 4

Page-16




O Bror B TER & BT 37
Ans X1- 5 m

X 2 qfyAToT S

X 3 geEgEEs

o 2 TUTE=R

Question ID : 6549781633
Status : Answered
Chosen Option : 4

P St § @ Fdens & g ¥l
Ans f

<2

X3

X

Question ID : 6549781638
Status : Answered
Chosen Option : 1

Q.56 S SRITA(1)/ g "(2)/ =X H(3)/ AT A(4)

I HITT T Hel &H F4T 27
Ans 1.4 .2 3 4

X 2'3.4 2 19

V34,3 21

’4+2,.3 41

Question ID : 6549781708
Status : Answered
Chosen Option : 3

Page-17




Q.57

Ans

FE W # O 5 gR F Gewr g2
X . gEatas

v 2 wfafEea g

X 3 R TeuEEs

& 4 gREATT S

Question ID : 6549781634
Status : Answered
Chosen Option : 2

Q.58 -
‘HITEd FT HiO-fE=og 4T grem?
Ans X T + &
v 2 8T + 33T
X A + T
X o T + TET
Question ID : 6549781677
Status : Answered
Chosen Option : 2
Q.59

Ans

HereAT(1)/ TMedN(2)/ ST 2(3)/ Fer(4)/ Tean(5)/ Fi(6)

FH gEar (1) 3T (2) F 91 IFT TITAT T el FH F4T gem?
X156 4 3
&4, 3,58
V386,54 3
x4+6, 4,35

Question ID : 6549781700
Status : Answered
Chosen Option : 3

Page-18




O A ReEE_ Fem
Ans X1- Hﬂiﬁﬁ

v Rt

< 3T

X 4 R

Question ID : 6549781664
Status : Answered
Chosen Option : 2

< 4 ATTEe

051:ﬂamﬁt_____awﬁsnurilﬁEHImFT%i%vsqgaaaﬁazﬁayrﬁﬂn
Ans o) TS

v g

K 3 e

Question ID : 6549781655
Status : Answered
Chosen Option : 2

V% g @ AT TR T OTE HY FA 2
s XK. AEccaiE & ST
K 2. 3T

&K 3 a=f glEar

o 4 $ET AT

Question ID : 6549781682
Status : Answered
Chosen Option : 4

* PrRfRT & ¥ FiF @ T e B
K TE W e I

v 2. TH gl AT AT

X 3 HH 9T Fgl AT 41|

X 4 TSH T TAT @M

=

Question ID : 6549781622
Status : Answered
Chosen Option : 2

Page-19




Q64 Fry =7 3ES BT 7| Fa T F e s9gea aeg Hiawr gem?

Ans

X oy
& 2 AEar
< 3 ordr
Vs el

Question ID : 6549781654
Status : Not Answered
Chosen Option : --

O CrfR@e & ¥ a7 I i @ 7
W
>~ 2
X 3
> a4

Ans

o H o A

Question ID : 6549781642
Status : Answered
Chosen Option : 4

Page - 20




Q.66

Ans

Comprehension:

c-eer A 33 FHEE AeeEr  JY Ra-aeer owd

¥ a7 & sh wRemst F e sURYR 92 FeRd & @y
(1) 2 g1 AFeT AR Afec-9@a & I3

& Fre i e 8, ofew 3o de agd 5 81 s

Ao H gANT HATSA-CHSET, 356 B 0 (2) &
W &1 AT Swd g5 WHA-CIIEd & SEsg JHi
ST Fafadr # Erafeen & (3) &1

Il TAS @ fawerfadl & &= 39T FAgedr aA @
ous Farafeem e (4) 7 Rrwfeem
ST 3R sfoRre # qREardy _(5) & FRoT J,
HETeST 3T 37T Afger T & 3d46T e 303 I
Ter el werr 2

IRIFA T & HUR R FFATET 99T & el
&rfare-

SubQuestion No : 66

e % Nad T (1) & v Hiawr suged o=
grem?

X1 gwfaT

vz

< 3 enfEer

X 4 39cleeT

Question ID : 6549781688
Status : Answered
Chosen Option : 2

Page - 21




Q.67

Ans

Comprehension:

-fger A 3 HEEr JeeEr F 3y fe-mfeer owd

F &7 & o FRenst 3 aeh Uy T wead & wy
(1) =S g1 AT TTAFR AgcT-9E & 9T

& Fre o e 8, ofew 3o de wgd 5 81 5

e H gAN HATA-CHSTUT, 3861 B T (2) &r
W &1 AT FFE g5 WHA-AIEN F SEsg J
e At @ v oo & (3) T

Il TAS & fawerfadl & @ 39T Agedr aA @
ous RBd-afeer Framem _ (4) 7 rmfeen
ST 3R iR d Ay _(5) & FRoT J,
HETeST 3T 37T Afger T & 3d46T e 303 I
Tar el werr 2

IR T & HUR R FFA@T 9941 & 3eal
Srfae-
SubQuestion No : 67

eIy F e T (2) & v siawr 3ugesd o
BT ?

}{1.§1ﬁ§aaﬁn

v 2 AEfAwar

X 3. zaTEgTeRar

X 4 grEfSeRar

Question ID : 6549781689
Status : Answered
Chosen Option : 2
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Q.68

Ans

Comprehension:

e-fger A 3 HEEr deeEr F wy fe-wfeer awd

¥ &7 & o aRenst & s sURYRY o Fe ¥ O
(1) =S g1 AT TTAFR AgcT-9E & 9T

& Fe ¥ e 8, ofew 3o de wgd 5 81 5

Ao H gANT HATA-CHSTUT, 38H1 T T (2) &r
W &1 AIgET SRS g5 WHA-IIEN F SEsg J
R wafdr v oot & (3) T

T TAS & fawerfadl & @ 39T Agedr aA @
aus Rd-afeer Framem _ (4) 7 Rrmfeen
ST AR sfogre # Ay _(5) & FRoT J,
AETeaT 3 37T Afger T #3749 g 3 I
Ter f&er wemr 2

IRIFT TSI F HUR R FrATi@d 99! & 3eal
arfae-

SubQuestion No : 68

e % Nad Ture (3) & v wiaar sugsa e
grem?

X . FHEIT

v 2 gfFmrer

X 3 e

2{4.§ﬁﬁ¢

Question ID : 6549781690
Status : Answered
Chosen Option : 2
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Q.69

Ans

Comprehension:
cu-fAey & 3y HEe e & @Y BFE-mer o
& &7 # of Afgenstt 7 el FuUfy a2 Foar & Ty

(1) Fg 1 AFer TR AfcT-9w F 99
mmﬁmﬁ,mmﬁma@mﬁlm

Ao H gANT HATSA-CHSET, 356 B 0 (2) &
W &1 AT Swd g5 WHA-CIIEd & SEsg JHi
ST Fafadr # Erafeen & (3) &1

Il TAS @ fawerfadl & &= 39T FAgedr aA @
ous Farafeem e (4) 7 Rrwfeem
ST 3R sfoRre # qREardy _(5) & FRoT J,
HETeST 3T 37T Afger T & 3d46T e 303 I
Ter el werr 2

IRIFA T & HUR R FFATET 99T & el
Srfae-

SubQuestion No : 69

T F Nod Tue (4) & v slawr 3935 o=
g ?

A1 gafed

X 2 sTET

K soug

v R

Question ID : 6549781691
Status : Answered
Chosen Option : 4
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Q.70

Ans

Comprehension:

-fger A 3 HEEr JeeEr F 3y fe-mfeer owd

¥ a9 & s wRenst o h sURYRY o2 FeRd & @y
(1) =S g1 AT TTAFR AgcT-9E & 9T

& Fre o e 8, ofew 3o de wgd 5 81 5

e H gAN HATA-CHSTUT, 3861 B T (2) &r
W &1 AT FFE g5 WHA-AIEN F SEsg J
e At @ v oo & (3) T

Il TAS & fawerfadl & @ 39T Agedr aA @
ous RBd-afeer Framem _ (4) 7 rmfeen
ST 3R iR d Ay _(5) & FRoT J,
HETeST 3T 37T Afger T & 3d46T e 303 I
Tar el werr 2

IR T & HUR R FFA@T 9941 & 3eal
&rfere-
SubQuestion No : 70

e % Nod T (5) & v Hiawr sugad e
grem?

r 0 g—‘_-:gi;r

X 2 gfgsm

X 3 Far

v e

Question ID : 6549781692
Status : Answered
Chosen Option : 4
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Q.71

Ans

Comprehension:
AT ST H BHET: HAIG T IFTUROT 3T &
Wad g, e F ama wmara . (1 3@ ar
AE A & H & A & &= ve AW saway &
(2) 8, g I8 S 7T F AT et H
Tfed & w9 o g1 3W <TIs ¥ H HeAg U Al
¥ gEY OiFd & WHTSS FURN F 97T (3)
BT €1 S oreEt H ;g s FEr o Fehar &, F wew &
TATIAT T I AT g- HeAIE F WHT & 9 FH S
gEY Jea & 3cHe (4) T JIF ST H TAAS
$r FfT A §, FF TS F (5) X fa=roT o=
T & gl

IRIFT TETY F R R AT 994 & 3oR
gifere-

SubQuestion No : 71

ey F e v (1) & e #iawr sugesd o=
g ?

X gaeT

v 2 gfogE

<3 gl

K4 FaET

Question ID : 6549781694
Status : Answered
Chosen Option : 2
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Q.72

Ans

Comprehension:

A SfEH H BHET: HJAIE FT IFTUROT 3T &
Wad g, e F ama wmara . (N1 3@ A
AE A & H & A & &= ve AW saway &
(2) 8, g T8 TS 7T F AT Aawar H
Tfed & w9 o g1 3W <TIs ¥ H HeAg U Al
¥ g fET & "iASs FHR # THT (3)
BT €1 S oreEt H ;g s FEr o Fehar &, F wew &
TATTAT T T AT B IS FT AT @ WA gF T4 &
gEY lea & 3che (4) T JIF ST H THAAN
$r FfAT A §, FF I3FIE F (5) X fa=roT o=
T 4 2l

IR Tl & YR W Taedd 994l & 3ok
arfare-

SubQuestion No : 72

ey F o T (2) & e siawr sugesd o=
BT ?

v 1 afEmTs

K 2 Eema

* s m&;{

X 4 foiraes

Question ID : 6549781695
Status : Answered
Chosen Option : 1
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Q.73

Ans

Comprehension:

A SfEH H BHET: HJAIE FT IFTUROT 3T &
Wad g, S F ama wmara . (1 3@ ar
HAAIE A & H @ AT & &= v AW syaway &
(2) 8, g T8 9w 7T F AT Aawaet $
=Tfed & w9 o g1 3W <AIe HY H HeAG U Al
¥ g Ofaa & WA FeR @ THT (3)
21T g1 SHL AT A AE off FEr S Henew g, T wAG H
TATTAT T T AT B IS FT AT @ WA gF T4 &

Za ufeFa & 3o (4) B FIF T H FATA
$r FfAT A §, FF I3FIE F (5) X fa=roT o=
T 4 2l

IRFT Y F HIR R ATi@d 9941 & 3o’
arfa-

SubQuestion No : 73

ez % Nad Ture (3) & v Hlawr sugaa e
g ?

X 1. =Meleh

X 2 HAlAS

< 3. TTereh

v ¢ FEH

Question ID : 6549781696
Status : Answered

Chosen Option : 4
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Q.74

Ans

Comprehension:
AT ST H BHET: HAIG T IFTUROT 3T &
Wad g, e F ama wmara . (1 3@ ar
IAE A &9 H & A & &= ve AW saway &
(2) 8, g I8 S 7T F AT et H
Tfed & w9 o g1 3W <TIs ¥ H HeAg U Al
¥ gEY OiFd & WHTSS FURN F 97T (3)
2T &1 S oreeT H ;g o FEr o Ty &, F wew
TUTTAT T T AT §- IS FT AT & ATl gF T &
gEY Jea & 3cHe (4) T JIF ST H TAAS
$r FfT A §, FF TS F (5) X fa=roT o=
FT d 2l

IRIFT T F FUR R FAi@T 9941 & 3cR
grrae-

SubQuestion No : 74

ey F o T (4) & T Flaw sugsa o=
g ?

X 1. HTErEr

X 2 ot

W 3 et

X4 T

Question ID : 6549781697
Status : Answered
Chosen Option : 3
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Q.75

Ans

Comprehension:

A SfEH H BHET: HJAIE FT IFTUROT 3T &
Wad g, e F ama wmara . (N1 3@ A
HAAIE A & H @ AT & &= v AW syaway &
(2) 8, g T8 TS 7T F AT Aawar H
Tfed & w9 o g1 3W <TIs ¥ H HeAg U Al
¥ g OfET & "iASes FHR # THA (3)
BT €1 S oreEt H ;g s FEr o Fehar &, F wew &
TATIAT T I AT g- HeAIE F WHT @ 9T FH S
gEY lea & 3che (4) T JIF ST H THAAN
$r FfrT A §, FF IFIE F (5) X fa=roT o=
T 23 ¢l

IRIFT TETY F FUR R AT 994 & 3oR
arrae-
SubQuestion No : 75

e % e T (5) & forw wiawr sugwd =g
g ?

X gqm

X 2 HTHAH

X 3 R

v 4 TS

Question ID : 6549781698
Status : Answered

Chosen Option : 4

Q.76

Ans

oITH HI(1)/ @ T(2)/ FHS(3) 3eN(4)

IFT HITAT FT TET FH F47 22
x1.2.1L,48
21,3, 4 2
N34 .3 1 2
v+1,4 32

Question ID : 6549781706
Status : Answered
Chosen Option : 4
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T e (1) FY(R) ET(3) T &(4)

I HITT T HWET FH F4T 27
A 14,1, 3, 2

N24.3 2 1

7’33.2 1, 4

X413, 2 4

Question ID : 6549781707
Status : Answered
Chosen Option : 1

T e # ¥ FiF @1 T gE §2
s X ua ¥ g e == T

v 2 ua ¥ ea e =3 g

X 3 e 7 e Siea <o 2

X 4 o & Wea iEa = gl

Question ID : 6549781625
Status : Answered
Chosen Option : 2
Q.79
‘AT FT A g |
Ans «
=y
X 2 HAT
AR )
<4 HAH
Question ID : 6549781662
Status : Answered
Chosen Option : 1
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O orae @A BT AT H FTT Fiear 2
e iy s

< 2. ¥« Hd

X o 30T 8@

X4 o o

Question ID : 6549781651
Status : Answered
Chosen Option : 1

g frwe wEme 2
Ans X1- H:‘ﬁ-

X 2 [EH

{3.3—*—_“-

K 4 ST

Question ID : 6549781660
Status : Answered
Chosen Option : 3

082 e U W ST ¥ AT F v T awiEg Sad 32
s X @ER REE F a9 A6 O

V2 HES & A AE
X 3 @Y AY F o T
X & gAY F AR GV TEE

Question ID : 6549781686
Status : Answered
Chosen Option : 2
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°% et & & ‘aeEE ue Hewr §2
Ans X.Im

v

X s g

X+ TS

Question ID : 6549781668
Status : Answered
Chosen Option : 2

O rrafafE # @ Fiawr e ad # TR @ e 2

Ans «1_ q_ﬂ_a:n_
X 2 R

< 3 FeemoT
X 4 qUTH

Question ID : 6549781670
Status : Answered
Chosen Option : 1

08 ey T agEae FT g2
ANS a1 ot

K 2 T

W 3 e

& 4

Question ID : 6549781637
Status : Answered
Chosen Option : 3
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Comprehension:

T & == T, I Oifecy Fas-9T 3T fww F ==
A IMFT HATH H ST FT HTUFET THST T HFhar o)
HS 38 FTFTHaT ¥ FR 3591 TIE & T IR T
Hr FTFreTHT W BT F=r g TE yer SulEas

a7 I SEE HHATSNF HiFd o o of g, FA THR Higed
# & JafFas At § IR AHEE JEE P FArEar
el =nfgw) sk 5w R, aqg & giag & amed S
o JTTSde HIET FT TS AT AT, 3HT 9FR g5 da9dF
sgeifaat @t o wAfew Agsfa & Averw & o gem

AT weAl & 3eak IRIFT T & JER R
aifere-
SubQuestion No : 86
0% arfgem r TrEdT amwETet B AT e
gemr?
Ans ( 1 -H?:E'-
X 2 I
X 3 onfem
X4 =fEFe

Question ID : 6549781717
Status : Answered

Chosen Option: 1
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Comprehension:

T & == T, I Oifecy Fas-9T 3T fww F ==
A TMFT AT H ST FT AR FHSAT T Hehal 9T
HS 38 FTFTHaT ¥ FR 3591 TIE & T IR T
Hr FTFreTHT W BT F=r g TE yer SulEas

AlaT & g HHATSNF Fiad o o of g, FA THR Wigcd
# & JafFas At § IR AHEE JEE P FArEar
el anfgw) sk 5w R, ag & giag & amd &
o JTTSde HIET FT TS AT AT, 3HT 9FR g5 da9dF
sgeifaat @t o wAfew Agsfa & Averw & o gem

Fafafa 92aT & 3cat IWIFT T & IR T
aifae-

SubQuestion No : 87

W aieh S & wEE B FET B afFae A

Ans

T FIT AT UT?
W . ATETH
X2 T

X 3 e

X 4 HTIR

Status : Answered

Question ID : 6549781719
Chosen Option : 1
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Comprehension:

¥ Be o ), oW TR Hafeaeaw 3k Rw
A ML FAT H HTET FT HTUFNT THST JT GehaT o7
IS 30 JATFapdl ¥ FH 355 HAg & A9 3T T
& HTeFaTHT F BT AT g Tw yer uiEas

ey T TOE AATSF Hod o o o §, 38 TPR A
# off dafFas ot ¥ IR e FEE # OFUTEar
el enfgw) s W gor, wag & giad @ amd S
o STSde HIET FT TS AT AT, 3UT FR g4 da9dE
HegeIfaat @ o wAfew gsfe & Avenw ¥ o gem

FrafafT 9eat F 3R IRIeT eI F JUR T
aifere-

SubQuestion No : 88

088 ey T 3ot Faw B2

Ans

A1 R
< 2 grer
v e
X 4 B=TT

Question ID : 6549781718
Status : Answered
Chosen Option : 3
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Comprehension:

T o =er 79, I Aifecy SoEas-9H 3N AE F &=
A TR AT H HET 1 AJFET THST 37 Gahar o1
S 30 AT ¥ TR 357 WA & T9AT AT THg
T 3MeReTT B RRT F=r g Bm R T
HraT T SOE WATSF Jod F & o §, FH TR AT
# off dafeas et ¥ IR e e S Taraar
et =nfew) 3k B woR, "ag & gg @ amd S
o 3ofedes HIET F H@YUS HAT 9T, 3° 9FR g5 ddi9de
Igeifaat @ o WAfew Igsfe & AvenH & o gem

Feafof@a 99l & 3ca) IRIed eI F JUR T
afaT-
SubQuestion No : 89
‘TYET T AT FAT &7
Ans ( 1 ﬂ%
X2 afEg
X3 ofda
X 4 FFafa

Q.89

Question ID : 6549781720
Status : Answered
Chosen Option: 1
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Comprehension:

¥ o = T, I Tiecy IASaH-9H7 3N BFE F &=
A TMFT AT H ST FT AR FHSAT T Hehal 9T
HS 38 IFTHaT ¥ FR 3591 TIE F T IR T
Hr FTFreTHT W BT F=r g TE yer SulEas

AlaT & g HHATSNF Fiad o o of g, FA THR Wigcd
# & JafFas At § IR AHEE JEE P FArEar
el anfgw) sk 5w R, ag & giag & amd &
7 Sufaas AeT &7 TUE 74T o1, 3UT 9K EH JaEaw
sgeifaat @t o wAfew Agsfa & Averw & o gem

Fafafa 92aT & 3cat IWIFT T & IR T
aifae-

SubQuestion No : 90

%0 farg @ e FT £2

Ans

v farer
A 2 goET
X3 e
x4 ;ﬁﬁ#

Question ID : 6549781716
Status : Answered
Chosen Option: 1
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Comprehension:

HIIAT HIE G5 T AT g1 TN, IANAS HUar
FHEAATES T #F WIS I & Toiw Sa=r gl FHme
AT &, 3dar T FATY o 8= &7 off aca =
e 9 wHaTl g, F dR FEe F Tt 7 6w 2
e wmar $r For 81 77 v A @ gl O Hr gl
AT €, HR & A 3 e Fr Ehoat ¥ o
I TSI g b 38 #8 & oA gl T, Har

e & TEA & F Hed &l gl 9 3% 3 T&ll FH
freeor 2T &, S 710 Fr o F sued 97 R S
Fwd| AR AF i ofr 7t 1 oige IR FE A
THST Fel Hehdr, SHOT, Fiaar 3= Feawor &1 afiors
g 61, o TG & AHAA Hafed FT ¢ FIH g
3 Terdl I THS Hehdl ¢, Toids HACOH ¥ &9 357
3k sfE=siT & vt =ar B

fr=faf@T 9eal & 3ca% 3WIed eI & HR 9T
aifeTe-
SubQuestion No : 91
W g F 3R Hiaar # e mEe
How g2
Ans K 1. ThoTaAT
< 2 AT
){3.§ﬁ3
R
[— Question ID : 6549781713

Status : Answered
Chosen Option : 4
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Comprehension:

HIEAT H5 gaTe I AT gl TEN, IS 32ET
FHATATE e #r T a3 & fore fBrgedr w2 ot
M &, 3T TRy TATY wEnT Bar &2 off g
e 91 ®ehaTl fobg, F 3R Sl & wedl H 47 g
e wyErar i wer g1 37 v 9 @ gEY 9 Hr gy
AT 8, AR & e #r 3 Fre @ el ¥ ga
Tg Sqenar ¢ & 9g FI A FouA g g, wfaar
TEGHT F HEA T F Ao ¢edl gl Ig 3% 34 qa H
Rreemwor a3 &, S aiftg & g F cueg 87 o S
Fd| AR A i ofr 70T & oise IR FE s
THS 7€ TWehaT, SHTOT, Hiadr 39+ f¥eemor &1 afons
gix 761, Iew TeT & aFa fAafea = & =ifF =
3 Tehdl I THS TohdT g, oas Aregx® ¥ &5 37
3 =T &1 9u Far B

Ao 9eat F 3 IRITT T F HJUR T
arfere-
SubQuestion No : 92

% gem @ AR & €2
s X

X 2 Agceaqur

A3 Temar

v 4 FET I

Q

I Question ID : 6549781712

Status : Answered
Chosen Option : 4
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Comprehension:

Haar HE gars A F4T g1 AN, I sveET
FHATSIET T # @ F1a F v Taar =8 g
ST &, 39T g FAY oENT &ar i off 3ew
e o THaTl g, F 3R Flee F weat 7 a2 @
e Ferar $r For g1 T T o @ gEY oA A ogd
AT &, 3R @ A @ AT FS H AT H TR
Ig saenar ¢ % 37 5 o gewA g By, s
IEG3T & TEF FT M Hed el ¢l IF 3% 37 TEi FH
fredwuT FTar £, ST A0 B 9T F e A4 e S
| AT A ghe o 70T F Sl R FIS s
HHS AT Hehd!;, SHOIT, Hiadl U7 [92IN0T &1 qiyonH
gfE 781, fes ga & aFa fAafag & ¢ =i s
39 Tehdl #I THS Tl g, Tods #AOH ¥ &9 357
3 o= &1 9T FIar B

@ veal & 3cav IRITd TEIY F IR T
gIfare-
SubQuestion No : 93
Q.93 i :
AT T FET fawT F2r §72
Ans K 1. m
X2 g
X3 ==
v 4 miear

Question ID : 6549781711
Status : Answered
Chosen Option : 4
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Q.94

Ans

Comprehension:

FHEAar Fig gag DA FLT g1 TN, TS HYar
FHEAATES T #F WIS I & Toiw Sa=r gl FHme
AT &, 3aa TE FATY o f&=r &7 off aca =
e 9 wHaTl g, F dR FEe F Tt 7 6w 2
forsrer Tumar @ o B 7€ v A @ gy AT A g
AT 8, AR & e @1 37 Fre @ e ¥ e
¥ adendr g o 98 F3 a FgemA 71 g, wRer
e & TEA & F Hed &l gl 9 3% 3 T&ll FH
Tresrwor Ty &, S o &Y eT I suea A8 v S
Fwd| AR AF i ofr 7t 1 oige IR FE A
HHST FAel Hehar, SHOT, Fiaar 3o eawor &1 afyors
g 72, Sfow ged & WA Safed Hdl ¢ Faieh gad
3 Terdl I THS Hehdl ¢, Toids HACOH ¥ &9 357
3R =T & 9 Far B

Ao Tl & 3car IRIFd T F HUR T
ZI=T-
SubQuestion No : 94

‘Sifedeeir &7 Gar 37 &4 82

X . A forg #T sueg A T A1 Thar &t
v 2 F FEA IR FET F ST Thal &r

X 3 Sgr-TgE U HLAT

X 4 Fr gwe F TRAT T F@eRaT &

Question ID : 6549781714
Status : Answered
Chosen Option : 2
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Q.95

Ans

Comprehension:

HIEAT H5 gaTe I AT gl TEN, IS 32ET
FHATATE e #r T a3 & fore fBrgedr w2 ot
M &, 3T TRy TATY wEnT Bar &2 off g
e 91 ®ehaTl fobg, F 3R Sl & wedl H 47 g
e erar fr wer g1 @ TH AT @ gEY A9 H gl
AT 8, AR & e #r 3 Fre @ el ¥ ga
Tg Sqenar ¢ & 9g FI A FouA g g, wfaar
TEGHT F HEA T F Ao ¢edl gl Ig 3% 34 qa H
Rreemwor a3 &, S aiftg & g F cueg 87 o S
Fd| AR A i ofr 70T & oise IR FE s
TH 7€ TWehaT, SHTOT, Hiadr 30+ f¥eemor &1 afons
gix 761, Iew TeT & aFa fAafea = & =ifF =
3 Tehal I THS Tohdr &, oas Aregw® ¥ &5 37
3 =T &1 9u Far B

Ao 9eat F 3 IRITT T F HJUR T
arfere-
SubQuestion No : 95
AT H S T AT FAT €72
X
X 2 e
X 3. FHATAAT
v 4 3T
[ i Question ID : 6549781710

Status : Answered
Chosen Option : 4
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Q.96

Ans

Comprehension:

T REwEe F Far o & @ i wewar gEw
TR &1 35g 7% FiE A o 37 S # ReEw
FLAT FGT e S A F §1G HH i & & HhT g,
g Sfaw & T2 T4 7E & FHaT T &, T
dee ARA 3UCH & BT 30 T8 & HY AT
TES ¥ S FAR U AET - S U, gER el & I
off 781 offl 3=gle U HT 7T # Fud FT AT FH
e % forT e R M w6 g ew A
T % aTell GO T T §; IFe Ufad & 98
faega gag =fgr o o sta= @ @ 3 e
AT & -3 A AT R FAELT F Wlgd Tk @M
gl

fe=faT@a 9eAl & 3cal 3WIed eI & JER 9T
aifere-
SubQuestion No : 96

ﬁéﬁﬂa‘aﬁrﬁa‘mﬁ‘r?ﬁaﬁ%g@ ARSI FT

S T FT foRar?

X 3T

X 2 FH

< 3. TreT

W 4ol

Question ID : 6549781723
Status : Answered
Chosen Option : 4
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Comprehension:

A e 7 wer of & IU9 Fr gsmar g9
PR & 95g 7T FF A oFff 38 e F Rearw
LT Adl TEaT AT A #m:ﬁaﬁﬁ‘ra‘ram%,
frg Stew # 731 U8 77 & w1l TS &, T
e ARET 3TTeH 1 HIY 38 TG F A FAga
TES ¥ AT FAR U AT of- S U, gAR el & 9
si‘rﬂ-@‘ramaﬁﬁﬁuﬁaﬁr?ﬂaﬁ%aﬁgamﬁﬁ
SET % fow e frar A war, g Sew A
TIE 3 aTell SO & WA g; gFe A #1 I8
foega varg =nfgr Tw ovd S99 & @ 3R S
T & -39 H A HR Ty & Higd oos @
gl

Ao 9ol & 3ca) IReT T F HUR T
gifere-

SubQuestion No : 97

¥ e 3 e Regd 5E # e

Ans

=7

< gEa
X o
v e
x4 anfy

Question ID : 6549781725
Status : Answered
Chosen Option : 3
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Q.98

Ans

Comprehension:

T A 7 war o F e Fr gemar e
R &1 35 7% FF # o 37 S F ReIw
AT AGI TR S A & §1g HH iy aF & HehTT g,
fohg Sfraet & Fq3r U 7T & Thar| TIE &, T
faee ARdT A 1 FET 3W TG F AY ST
TEd I FAT FAR I AGT - FT e, gAR @Al & 9
o 7 off| SeEie o #r e H IO g ARAey H
SeT & v erwene frar A wer, & g Shew &
TIE 3 aTell SIUT & T g; JFe Ui & 3
faega gae =fgT Sed oxdr sa= & ¢ 3l o
T & -3 H AT 3R FET F Higd Sk @
gl

=T8T TeAT & 3eat IWIFT TETY & JR T
aifere-
SubQuestion No : 98
RTERT F AT FAT £2
v 1. HTA
X 2. RO
< 3 FEERT
K 4 HEATA

Question ID : 6549781722
Status : Answered
Chosen Option : 1
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Comprehension:

T REwEe F Far o & @ i wewar gEw
TR &1 35g 7% FiE A o 37 S # Reww
FAT Al TR S A & 96 7% oifa & & " g,
frg sfee & 791 8 78 & wean T &, =
aee ARAT 3UCH & a9 36 T8 & HY ST
TES ¥ S FAR U AET - S U, gER el & I
off 781 offl 3=ale U H 7ie # S gT AT FH
e % forT erEere TR MR we 6 g ew A
T % aTell GO T T §; IFe Ufad & 98
faega gag =fgr o v sta= @ @ 3 e
AT & -3 A AT R FAELT F Wlgd Tk @M
gl

fe=faT@a 9eAl & 3cal 3WIed eI & JER 9T
gIfere-
SubQuestion No : 99
09 g #T HY FAT B2
Ans x"’ 1 %RET
v oy
2{3.;&3&
X+ G4

Question ID : 6549781726
Status : Answered
Chosen Option : 2
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Comprehension:

AT Raeee 7 e of & JU Fr Fsgar e
PR & 95g 7T FF A oFff 38 e F Rearw
FAT AL TR A A F g {0t & & HaT 8,
g Stew & 7= U8 77 & T TS &, =
e ARET 3TTeH 1 HIY 38 TG F A FAga
TES ¥ AT FAR U A of- S U, gAR Eell & 9
o 78l o) Segiar et Y M A Fud U ARy
SET % fow e frar A war, g Sew A
T T ATl WO & T ¢; qFe Uiad # 98
foega varg =nfgr Tw ovd S99 & @ 3R S
T & -3 A AGT IR TR F Higd Gk @
gl

AT 99T F 3ot IRIeT T & FUR W/
gitare-

SubQuestion No : 100

TSI FT HET A&7 FAT 872

A . AT ST EOdr &1 S8

X 2 #Ra 3R 9T geIar & ey

X 3 TUIT FWEAAT T SE

v o T AR I wsar & 99 @

Q.100

Ans

Question ID : 6549781724
Status : Answered
Chosen Option : 4

Q.1 Select the correct passive form of the given sentence.

Light a candle in the memory of the brave martyrs.

Ans f 1. Let a candle be lit in the memory of the brave martyrs.
?'{F 2. A candle has been lit in the memory of the brave martyrs.
?(: 3. A candle is lit by us in the memory of the brave martyrs.

?'{F 4. A candle will be lighted in the memory of the brave martyrs.

Question ID : 6549781536
Status : Answered
Chosen Option : 1
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Q.2 Select the correct indirect form of the given sentence.

| said, “What a remarkable likeness between the two sisters!”

Ans ( 1. I exclaimed that there was a remarkable likeness between the two sisters.

x 2. | remarked that what a remarkable likeness there was between the two sisters.
x 3. | asked that was there a remarkable likeness between the two sisters.

X 4. | exclaimed that what a remarkable likeness was there between the two sisters.

Question ID : 6549781545
Status : Answered
Chosen Option : 1

Q.3 Select the most appropriate meaning of the given idiom.

Keep a lid on

Ans X" 1 keep arecord of something
x 2. keep up the good work
« 3. keep emotions under control

x 4. keep the change

Question ID : 6549781563
Status : Answered
Chosen Option : 1

Q.4 Fill in the blank with the most appropriate word.

She ______ her pearly white teeth in a broad smile.
Ans & 1. glowed

( 2. flashed
X 3. flamed

x 4. sparkled

Question ID : 6549781550
Status : Not Answered
Chosen Option : --

Q.5 Select the most appropriate ANTONYM of the given word.

BARREN
Ans X" 1. sterile

o 2. fruitful
x 3. fallow
x 4. empty

Question ID : 6549781557
Status : Answered
Chosen Option : 2
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Q.6 Select the most appropriate meaning of the given idiom.

Take a walk

Ans X" 1. diffusing a tense situation
x 2. comforting someone in pain
« 3. rudely telling someone to go away

X 4. following someone secretly

Question ID : 6549781566
Status : Answered
Chosen Option : 2

Q.7 Select the most appropriate ANTONYM of the given word.

DILUTE
Ans & 1 lessen

« 2. strengthen
/5 3. modify
x 4. weaken

Question ID : 6549781558
Status : Answered
Chosen Option : 2

Q.8 Select the most appropriate ANTONYM of the given word.

EMULATE
Ans « 1. neglect

x 2. imitate
x 3. extract
x 4. protect

Question ID : 6549781559
Status : Answered
Chosen Option : 4

Q.9 Select the most appropriate ANTONYM of the given word.

ANNIHILATION
Ans X 1. elimination

( 2. construction
X 3. extinction
x 4. demolition

Question ID : 6549781560
Status : Answered
Chosen Option : 2
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Q.10 Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute it, select ‘No substitution'.

She ordered some scrambled eggs but the coffee.
Ans " 1 buta coffee

« 2. and coffee
x 3. and the coffee

X 4. No substitution

Question ID : 6549781599
Status : Answered
Chosen Option : 2

Q.11 Select the correct direct form of the given sentence.

Ishmit told his mother that someone had come to see her that day.

Ans X 1. Ishmit said to his mother, “Someone is coming to see her today."

( 2. Ishmit said to his mother, “Someone came to see you today."
X 3. Ishmit said to his mother, "Someone has come to see her that day.”

x 4. Ishmit said to his mother, “Someone has come to see you that day."

Question ID : 6549781538
Status : Answered
Chosen Option : 2

Q.12 Select the most appropriate meaning of the given idiom.

A feast for the eyes

Ans « 1. a pleasing visual experience
x 2. aremedy for good eyesight
X 3. a lavish spread of food

x 4. a well presented but tasteless dish

Question ID : 6549781562
Status : Answered
Chosen Option: 1

Q.13 Select the correct indirect form of the given sentence.

The teacher has said, "It is important to maintain personal hygiene."

Ans ( 1. The teacher has said that it is important to maintain personal hygiene.

x 2. The teacher said that it is important to maintain personal hygiene.
x 3. The teacher said that it was important to maintain personal hygiene.

x 4. The teacher is saying said that it was important to maintain personal hygiene.

Question ID : 6549781543
Status : Answered
Chosen Option : 1
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Q.14 Fill in the blank with the most appropriate word.

He seems to have no of keeping his promise.
Ans X 1. retention

« 2. intention

x 3. attention

X 4. rejection

Question ID : 6549781549
Status : Answered
Chosen Option : 2

Q.15 Select the correct passive form of the given sentence.

The receptionist had informed us about the appointment.

Ans « 1. We had been informed about the appointment by the receptionist.
x 2. We have been informed about the appointment by the receptionist.
X 3. We were informed about the appointment by the receptionist.

X 4. The receptionist had been informed about the appointment by us.

Question ID : 6549781535
Status : Answered
Chosen Option : 1

Q.16 Identify the segment in the sentence that contains a grammatical error.

| was fully convinced that she did not believe a word of that | had said.

Ans X" 1. was fully convinced
« 2. of that I had said
X 3. that she did not
x 4. believe a word

Question ID : 6549781523
Status : Answered
Chosen Option : 2

Q.17 Select the correct direct form of the given sentence.

He asked me if | was not thinking of investing then.

Ans x 1. He said to me, “Are you thinking of investing then?"
x 2. He said to me, "Haven't you thought of investing then?"
{ 3. He said to me, “Are you not thinking of investing now?"

x 4. He said to me, "Have you thought of investing now?"

Question ID : 6549781541
Status : Answered
Chosen Option : 3
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Q.18 Select the most appropriate synonym of the given word.

REDEMPTION
Ans « 1. atonement

X 2. requirement
X 3. foundation

X 4. consumption

Question ID : 6549781555
Status : Answered
Chosen Option : 4

Q.19 Given below are four sentences in jumbled order. Pick the option that gives their correct
order.

A. In arid regions of Rajasthan, almost all houses traditionally had underground tanks.
B. They were connected to the sloping roof of the house through a pipe.

C. These could be as large as a big room.

D. Rainwater falling on the roofs would travel down the pipe and get stored in the tank.

Ans X" 1. BCDA
o 2 AcBD
< 3.ADBC
/< 4.CADB

Question ID : 6549781595
Status : Answered
Chosen Option : 2

Q.20 Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute it, select ‘No substitution'.

Neither my sister nor me was keen to attend the concert.
Ans X" 1 Either my sister or me

X 2. Neither my sister or me
« 3. Neither my sister nor |

X 4. No substitution

Question ID : 6549781600
Status : Answered
Chosen Option : 3

Q.21 Select the correct active form of the given sentence.

Anything would have been permitted by Alice Bennett.
Ans X" 1. Alice Bennett permitted anything.

X 2. Alice Bennett would permit anything.
X 3. Alice Bennett will permit anything.

« 4. Alice Bennett would have permitted anything.

Question ID : 6549781528
Status : Answered
Chosen Option : 4
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Q.22 Select the correct active form of the given sentence.

| am being devoured by curiosity.

Ans « 1. Curiosity is devouring me.
x 2. Curiosity had devoured me.
X 3. Curiosity will devour me.

x 4. Curiosity has devoured me.

Question ID : 6549781530
Status : Answered
Chosen Option: 1

Q.23 Select the correct direct form of the given sentence.

She exclaimed that | was wearing an exquisite ring.

Ans x 1. She said, "Is this an exquisite ring you are wearing?"

« 2. She said, "What an exquisite ring you are wearing!"
x 3. She said, “Are you wearing an exquisite ring?"

X 4. She says, "What an exquisite ring are you wearing!"

Question ID : 6549781540
Status : Answered
Chosen Option : 2

Q.24 Fill in the blank with the most appropriate word.

| an unopened letter lying on the mantelpiece.
Ans X 1. watched

( 2. noticed
X 3. peered

x 4. glanced

Question ID : 6549781548
Status : Answered
Chosen Option : 2
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Q.25 Given below are six sentences, out of which sentences A and F are in the correct position.
Sentences B, C, D and E are in a jumbled order. Select the option that gives the correct
order.

A. King Advois of the Philippines mounted his horse and left for the forest with his soldiers.
B. But there was no sign of water nearby.

C. He was thirsty and so was his horse.

D. Finally, he stopped his horse to rest for a while.

E. He rode so fast that he soon left his soldiers far behind.

F. Wandering about, the king spotted a hut with a thatched roof.

Ans o 1 AEDCBF
< 2. ADCBEF
/< 3. AEBDCF
< 4. ACDEBF

Question ID : 6549781589
Status : Answered
Chosen Option : 1

Q.26 Select the correct active form of the given sentence.

Can your presence at the site of the murder be denied?

Ans x 1. Can you be denying your presence at the site of the murder?
X 2. Had you denied your presence at the site of the murder?
X 3. Did you deny your presence at the site of the murder?

J 4. Can you deny your presence at the site of the murder?

Question ID : 6549781531
Status : Answered
Chosen Option : 4

Q.27 Given below are four sentences in jumbled order. Pick the option that gives their correct
order.

A. At seventy, one only waited to be summoned by God.
B. When he was dead, what would his wife do?

C. They had lived in each other's company since they were children.
D. The shopkeeper had said Muni was seventy.

Ans  of 1 DABC
/< 2.BDCA
< 3.DCBA
< 4.CDBA

Question ID : 6549781597
Status : Answered
Chosen Option : 1
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Q.28 Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute it, select ‘No substitution’.

Do you deny that you have offered him a huge sum to impersonate you at the party last
month?

Ans X" 1. you were offered
?{ 2. No substitution

f 3. you offered
?{ 4. you have offer

Question ID : 6549781603
Status : Answered
Chosen Option : 3

Q.29 Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute it, select ‘No substitution’.

“What a fine piece of workmanship this is!" he exclaimed.
Ans X'F 1. these are

X 2.itis this
{ 3. No substitution

X 4isthere

Question ID : 6549781602
Status : Answered
Chosen Option : 3

Q.30 Given below are six sentences, out of which sentences A and F are in the correct position.
Sentences B, C, D and E are in a jumbled order. Select the option that gives the correct
order.

A. A young Brahmin came forward and bowed to the king.

B. He gripped the bow and looked at the princess with a smile.

C. His arms were powerful and did not seem to belong to a Brahmin.

D. He was tall, dark with broad shoulders.

E. They were certainly those of a warrior.

F. Then he strung the bow evoking a thunderous applause from the crowd.

Ans o 1 ADCEBF
75 2. ABECDF
< 3. ACBDEF

< 4. AECDBF

Question ID : 6549781593
Status : Answered
Chosen Option : 1
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Q.31 Select the correct indirect form of the given sentence.

You said to me, "I slept well last night."

Ans « 1. You told me that you had slept well the previous night.
x 2. You told me that you sleep well the previous night.
X 3. You said to me that you slept well last night.

x 4. You said to me that you were sleeping well last night.

Question ID : 6549781542
Status : Answered
Chosen Option: 1

Q.32 Select the most appropriate synonym of the given word.

RAPT
Ans { 1. absorbed

x 2. upset

x 3. unhappy
X 4. troubled

Question ID : 6549781553
Status : Answered
Chosen Option : 1

Q.33 Identify the segment in the sentence that contains a grammatical error.

There were floral decorations from display in the city.
Ans « 1. from display

x 2.in the city
X 3. There were

x 4. floral decorations

Question ID : 6549781520
Status : Answered
Chosen Option : 1

Q.34 lIdentify the segment in the sentence that contains a grammatical error.

The warriors reluctantly withdrawn their weapons and peace prevailed.
Ans X" 1. The warriors

x 2. their weapons
X 3. and peace prevailed

« 4. reluctantly withdrawn

Question ID : 6549781525
Status : Not Answered
Chosen Option : --

Page - 57




Q.35 Identify the segment in the sentence that contains a grammatical error.

| wondered why both the wife of Lord Easton had left him.
Ans " 1 of Lord Easton

25 2. had left him
X 3.  wondered why
o 4. both the wife

Question ID : 6549781522
Status : Answered
Chosen Option : 4

Q.36 Given below are six sentences, out of which sentences A and F are in the correct position.
Sentences B, C, D and E are in a jumbled order. Select the option that gives the correct
order.

A. Folk tales offer lots of advice.

B. Most of them deliver the message clearly.

C. The reason was that he was not properly dressed.

D. There is a story of Birbal not being allowed to attend the king's free lunch.
E. This happened despite his high intellectual abilities.

F. The advice thus conveyed is ‘Don't judge a book by its cover.'

Ans X" 1. ADEBCF
#% 2. ABCEDF
< 3. ACEDBF
o 4. ABDCEF

Question ID : 6549781590
Status : Answered
Chosen Option : 4

Q.37 ldentify the segment in the sentence that contains a grammatical error.

| immediately realised that my deductions had being all wrong.

Ans X" 1. that my deductions

X 2. all wrong
X 3. limmediately realised

J 4. had being

Question ID : 6549781524
Status : Answered
Chosen Option : 4
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Q.38 Select the most appropriate meaning of the given idiom.

Take the high ground
Ans X 1. to show arrogance

( 2. to act morally
X 3. to ridicule the lowly
75 4. 10 behave childishly

Question ID : 6549781565
Status : Answered
Chosen Option : 2

Q.39 Select the correct passive form of the given sentence.

She can do only one thing at a time.

Ans X 1. Only one thing at a time was done by her.
« 2. Only one thing at a time can be done by her.
X 3. Only one thing at a time is done by her.

x 4. Only one thing at a time is being done by her.

Question ID : 6549781533
Status : Answered
Chosen Option : 2

Q.40 Select the correct indirect form of the given sentence.

The commander said to the soldiers, “Don't think twice. Jump off the plane now."

Ans { 1. The commander ordered the soldiers not to think twice and jump off the plane then.

x 2. The commander ordered the soldiers don't think twice and jump off the plane then.

x 3. The commander ordered the soldiers that don't think twice and jump off the plane

now.

x 4. The commander ordered the soldiers to not think twice and to jump off the plane

now.

Question ID : 6549781546
Status : Answered
Chosen Option: 1

Q.41 Identify the segment in the sentence that contains a grammatical error.

The boy longed for the comfort with his mother's lap.
Ans X" 1.The boy longed

x 2. for the comfort

of 3. with his

x 4. mother's lap

Question ID : 6549781517
Status : Answered
Chosen Option : 3
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Q.42 Select the most appropriate synonym of the given word.

DETAIN
Ans & 1. permit

x 2. assist
« 3. confine

x 4. advance

Question ID : 6549781554
Status : Answered
Chosen Option : 3

Q.43 Fill in the blank with the most appropriate word.

He is quite capable of taking hot-blooded
Ans X" 1. sympathetic

x 2. gratifying
x 3. genuine
« 4. impulsive

actions.

Question ID : 6549781551
Status : Answered
Chosen Option : 2

Q.44 Select the most appropriate meaning of the given idiom.

Go the extra mile

Ans X 1. lose the way in a foreign country
x 2. take a longer route in a journey
X 3. over-achieve the targets

« 4. make more effort than is expected

Question ID : 6549781564
Status : Answered
Chosen Option : 4

Q.45 ldentify the segment in the sentence that contains a grammatical error.

1 won't hold you up for so very long as you are busy.
Ans « 1. so very long

x 2. you up for
X 3. as you are busy
x 4.1won't hold

Question ID : 6549781521
Status : Answered
Chosen Option: 1
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Q.46 Select the most appropriate synonym of the given word.

DISTINCT
Ans { 1. unmistakable

x 2. vague
X 3. similar

x 4. indefinite

Question ID : 6549781552
Status : Not Answered
Chosen Option : --

Q.47 Select the correct direct form of the given sentence.

Tom said that he would paint the fence himself.

Ans X 1. Tom is saying, "I will paint the fence myself."
« 2. Tom said, “I will paint the fence myself."
X 3. Tom said, "He had painted the fence himself."

X 4. Tom said, "He would paint the fence myself."

Question ID : 6549781539
Status : Answered
Chosen Option : 2

Q.48 Given below are four sentences in jumbled order. Pick the option that gives their correct

order.

A. But Mr. Oliver did not feel nervous at all.
B. The pine trees made sad eerie sounds in the forest.

C. When the light fell on the figure of a boy, sitting on a rock, Mr. Oliver stopped.
D. He kept along the forest path guided by a flickering torch light.

Ans  of 1 BADC
/< 2.CABD
< 3.DABC
/5 4.BDCA

Question ID : 6549781596
Status : Answered
Chosen Option : 1

Q.49 Select the correct passive form of the given sentence.

She is cooking up stories so that she can escape punishment.

Ans X 1. Stories are cooked up by her so that punishment can be escaped.
X 2. Stories were cooked up by her so that punishment could be escaped.
« 3. Stories are being cooked up by her so that punishment can be escaped.

X 4. Stories have been cooked up by her so that punishment can be escaped.

Question ID : 6549781534
Status : Answered
Chosen Option : 3
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Q.50 Select the correct active form of the given sentence.

The excitement aroused by the murder was soon forgotten by people.

Ans ?(: 1. People are soon going to forget the excitement aroused by the murder.
?{— 2. People will soon forget the excitement aroused by the murder.
?(: 3. People have soon forgotten the excitement aroused by the murder.

{ 4. People soon forgot the excitement aroused by the murder.

Question ID : 6549781529
Status : Answered
Chosen Option : 4

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
options given. Select the most appropriate option for each number.

With the printing press, a new reading public emerged. Printing (1) the cost of books.
The time and (2) required to produce each book came down. (3) copies could
now be produced with greater (4) . Books flooded the market, reaching (5) to an
ever-growing readership. Access to books (6) a new culture of reading. Earlier, reading
was (7) to the elites only. Common people (8) in a world of oral culture. They
heard (9) texts read out, ballads recited and folk tales (10) . Knowledge was
transferred orally.

SubQuestion No : 51
Q.51 Select the most appropriate option to fill in blank no. 1.

Ans X 1. reproduced

J 2. reduced

< 3.removed

?{ 4. recovered

Question ID : 6549781568
Status : Answered
Chosen Option : 2

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
options given. Select the most appropriate option for each number.

With the printing press, a new reading public emerged. Printing (1) the cost of books.
The time and (2) required to produce each book came down. (3) copies could
now be produced with greater (4) . Books flooded the market, reaching (5) toan
ever-growing readership. Access to books (6) a new culture of reading. Earlier, reading
was (7) to the elites only. Common people (8)______ in a world of oral culture. They
heard (9) texts read out, ballads recited and folk tales (10) . Knowledge was
transferred orally.

SubQuestion No : 52
Q.52 Select the most appropriate option to fill in blank no. 2.

Ans X' 1. health
K 2. fame
J 3. labour

25 4. courage

Question ID : 6549781569
Status : Answered
Chosen Option : 3
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Q.53
Ans

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
options given. Select the most appropriate option for each number.

the cost of books.

With the printing press, a new reading public emerged. Printing (1)
The time and (2) required to produce each book came down. (3) copies could
now be produced with greater (4) . Books flooded the market, reaching (5)_____to an
ever-growing readership. Access to books (6) a new culture of reading. Earlier, reading
was (7) to the elites only. Common people (8) in a world of oral culture. They
heard (9) texts read out, ballads recited and folk tales (10) . Knowledge was
transferred orally.

SubQuestion No : 53
Select the most appropriate option to fill in blank no. 3.

J 1. Multiple

?{ 2. Collective
25 3. Compound
?{ 4. Mixed

Question ID : 6549781570
Status : Answered
Chosen Option : 1

Q.54
Ans

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
options given. Select the most appropriate option for each number.

With the printing press, a new reading public emerged. Printing (1) the cost of books.
The time and (2) required to produce each book came down. (3) copies could
now be produced with greater (4) . Books flooded the market, reaching (5) toan
ever-growing readership. Access to books (6) a new culture of reading. Earlier, reading
was (7) to the elites only. Common people (8) in a world of oral culture. They
heard (9) texts read out, ballads recited and folk tales (10) . Knowledge was
transferred orally.

SubQuestion No : 54
Select the most appropriate option to fill in blank no. 4.

?('F 1. brilliance

f 2. ease
?{ 3. charity
75 4.beauty

Question ID : 6549781571
Status : Answered
Chosen Option : 2
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Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
options given. Select the most appropriate option for each number.

With the printing press, a new reading public emerged. Printing (1) the cost of books.
The time and (2) required to produce each book came down. (3) copies could
now be produced with greater (4) . Books flooded the market, reaching (5) to an
ever-growing readership. Access to books (6) a new culture of reading. Earlier, reading
was (7) to the elites only. Common people (8) in a world of oral culture. They
heard (9) texts read out, ballads recited and folk tales (10) . Knowledge was
transferred orally.

SubQuestion No : 55
Q.55 Select the most appropriate option to fill in blank no. 5.

Ans X' 1 off
?{F 2. at

f 3. out
?{F 4.in

Question ID : 6549781572
Status : Answered
Chosen Option : 3

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
options given. Select the most appropriate option for each number.

With the printing press, a new reading public emerged. Printing (1) the cost of books.
The time and (2) required to produce each book came down. (3) copies could
now be produced with greater (4) . Books flooded the market, reaching (5) to an
ever-growing readership. Access to books (6) a new culture of reading. Earlier, reading
was (7) to the elites only. Common people (8) in a world of oral culture. They
heard (9) texts read out, ballads recited and folk tales (10) . Knowledge was
transferred orally.

SubQuestion No : 56
Q.56 Select the most appropriate option to fill in blank no. 6.

Ans J 1. created
?{ 2. create
< 3.is creating

?{F 4. creates

Question ID : 6549781573
Status : Answered
Chosen Option: 1
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Q.57
Ans

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
options given. Select the most appropriate option for each number.

With the printing press, a new reading public emerged. Printing (1) the cost of books.
The time and (2) required to produce each book came down. (3) copies could
now be produced with greater (4) . Books flooded the market, reaching (5) toan
ever-growing readership. Access to books (6) a new culture of reading. Earlier, reading
was (7) to the elites only. Common people (8) in a world of oral culture. They
heard (9) texts read out, ballads recited and folk tales (10) . Knowledge was
transferred orally.

SubQuestion No : 57
Select the most appropriate option to fill in blank no. 7.

?('F 1. controlled
5 2. deprived
?('F 3. surrounded
f 4. restricted

Question ID : 6549781574
Status : Answered
Chosen Option: 1

Q.58
Ans

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
options given. Select the most appropriate option for each number.

With the printing press, a new reading public emerged. Printing (1)_____ the cost of books.
The time and (2) required to produce each book came down. (3) copies could
now be produced with greater (4) . Books flooded the market, reaching (5)_____to an

ever-growing readership. Access to books (6) a new culture of reading. Earlier, reading
was (7) to the elites only. Common people (8) in a world of oral culture. They
heard (9) texts read out, ballads recited and folk tales (10) . Knowledge was
transferred orally.

SubQuestion No : 58
Select the most appropriate option to fill in blank no. 8.

W 1. lived
?{F 2. lives
?{F 3. live

?('F 4. are living

Question ID : 6549781575
Status : Answered
Chosen Option : 1
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Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
options given. Select the most appropriate option for each number.

the cost of books.

With the printing press, a new reading public emerged. Printing (1)
The time and (2) required to produce each book came down. (3) copies could
now be produced with greater (4) . Books flooded the market, reaching (5)_____to an
ever-growing readership. Access to books (6) a new culture of reading. Earlier, reading
was (7) to the elites only. Common people (8) in a world of oral culture. They
heard (9) texts read out, ballads recited and folk tales (10) . Knowledge was
transferred orally.

SubQuestion No : 59
Q.59 Select the most appropriate option to fill in blank no. 9.

Ans X 1 stuffed
?{ 2. stored
75 3. secret

J 4. sacred

Question ID : 6549781576
Status : Answered
Chosen Option : 4

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
options given. Select the most appropriate option for each number.

With the printing press, a new reading public emerged. Printing (1) the cost of books.
The time and (2) required to produce each book came down. (3) copies could
now be produced with greater (4) . Books flooded the market, reaching (5) toan
ever-growing readership. Access to books (6) a new culture of reading. Earlier, reading
was (7) to the elites only. Common people (8) in a world of oral culture. They
heard (9) texts read out, ballads recited and folk tales (10) . Knowledge was
transferred orally.

SubQuestion No : 60
Q.60 Select the most appropriate option to fill in blank no. 10.

Ans ?('F 1. recorded

2< 2. depicted

J 3. narrated

25 4. enacted

Question ID : 6549781577
Status : Answered
Chosen Option : 3
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Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
options given. Select the most appropriate option for each number.

Dhritrashtra's discomfort was evident though he tried to (1) it. He said, "I don't see why
this is a matter of (2) concern. At the appropriate time, when the planets are aligned
3) , the proclamation of my eldest son, Duryodhana, as the crown prince, shall

4) " Duryodhana's face lit up on hearing this. But there were soft (5) as a wave of
uneasiness swept through the royal court. Vidura (6) up to speak, “Your Majesty, you
have (7) in the past that you are only a representative of King Pandu. (8) , when the
time comes, you should (9) Pandu's eldest son as his successor and the crown prince."
(10) had Vidura said this, than a large number of courtiers echoed his statement in
unison.

SubQuestion No : 61
Q.61 Select the most appropriate option to fill in blank no. 1.

Ans 3 1 show

?{ 2. pack

25 3. shelter

o 4 hide

Question ID : 6549781579
Status : Answered
Chosen Option : 4

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
options given. Select the most appropriate option for each number.

Dhritrashtra's discomfort was evident though he tried to (1) it. He said, "l don't see why
this is a matter of (2) concern. At the appropriate time, when the planets are aligned

3) , the proclamation of my eldest son, Duryodhana, as the crown prince, shall

(4) " Duryodhana's face lit up on hearing this. But there were soft (5) as a wave of
uneasiness swept through the royal court. Vidura (6) up to speak, "Your Majesty, you
have (7) in the past that you are only a representative of King Pandu. (8) , when the
time comes, you should (9) Pandu’s eldest son as his successor and the crown prince.”
(10) had Vidura said this, than a large number of courtiers echoed his statement in
unison.

SubQuestion No : 62
Q.62 Select the most appropriate option to fill in blank no. 2.

Ans X" 1 dull
f 2. grave
?{ 3. quiet

?('F 4. sober

Question ID : 6549781580
Status : Answered
Chosen Option : 4
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Q.63
Ans

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
options given. Select the most appropriate option for each number.

Dhritrashtra's discomfort was evident though he tried to (1) it. He said, "I don't see why
this is a matter of (2) concern. At the appropriate time, when the planets are aligned

3) , the proclamation of my eldest son, Duryodhana, as the crown prince, shall

(4) " Duryodhana's face lit up on hearing this. But there were soft (5) as a wave of
uneasiness swept through the royal court. Vidura (6) up to speak, "Your Majesty, you
have (7) in the past that you are only a representative of King Pandu. (8) , when the
time comes, you should (9) Pandu's eldest son as his successor and the crown prince.”
(10) had Vidura said this, than a large number of courtiers echoed his statement in
unison.

SubQuestion No : 63
Select the most appropriate option to fill in blank no. 3.

?{F 1. bravely
2< 2. brightly
< 3.dimly

f 4. favourably

Question ID : 6549781581
Status : Answered
Chosen Option : 4

Q.64
Ans

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
options given. Select the most appropriate option for each number.

Dhritrashtra’s discomfort was evident though he tried to (1) it. He said, "l don't see why
this is a matter of (2) concern. At the appropriate time, when the planets are aligned
(3)______, the proclamation of my eldest son, Duryodhana, as the crown prince, shall

(4) " Duryodhana's face lit up on hearing this. But there were soft (5) as a wave of
uneasiness swept through the royal court. Vidura (6) up to speak, "Your Majesty, you
have (7) in the past that you are only a representative of King Pandu. (8) , when the
time comes, you should (9) Pandu’s eldest son as his successor and the crown prince.”
(10) had Vidura said this, than a large number of courtiers echoed his statement in
unison.

SubQuestion No : 64
Select the most appropriate option to fill in blank no. 4.

?(: 1. be making
75 2. make

?{ 3. be make

f 4. be made

Question ID : 6549781582
Status : Answered
Chosen Option : 4
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Q.65
Ans

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
options given. Select the most appropriate option for each number.

Dhritrashtra's discomfort was evident though he tried to (1)
this is a matter of (2)

it. He said, "I don't see why
concern. At the appropriate time, when the planets are aligned

(3)______, the proclamation of my eldest son, Duryodhana, as the crown prince, shall
(4) " Duryodhana's face lit up on hearing this. But there were soft (5) as a wave of
uneasiness swept through the royal court. Vidura (6) up to speak, "Your Majesty, you

have (7) in the past that you are only a representative of King Pandu. (8)
time comes, you should (9)
(10)
unison.

, when the
Pandu's eldest son as his successor and the crown prince."
had Vidura said this, than a large number of courtiers echoed his statement in

SubQuestion No : 65
Select the most appropriate option to fill in blank no. 5.

?('F 1. roars
75 2. calls

?('F 3. shouts

{ 4. murmurs

Question ID : 6549781583
Status : Answered
Chosen Option : 4

Q.66
Ans

Comprehension:
In the following passage some words have been deleted. Fill in the blanks with the help of the
options given. Select the most appropriate option for each number.

Dhritrashtra's discomfort was evident though he tried to (1)
this is a matter of (2)

it. He said, "I don't see why
concern. At the appropriate time, when the planets are aligned

(3) , the proclamation of my eldest son, Duryodhana, as the crown prince, shall

(4) " Duryodhana's face lit up on hearing this. But there were soft (5) as a wave of
uneasiness swept through the royal court. Vidura (6) up to speak, “Your Majesty, you
have (7) in the past that you are only a representative of King Pandu. (8) , when the
time comes, you should (9) Pandu's eldest son as his successor and the crown prince."
(10) had Vidura said this, than a large number of courtiers echoed his statement in
unison.

SubQuestion No : 66
Select the most appropriate option to fill in blank no. 6.

25 1.has stood

f 2. stood

< 3.stand

?{F 4. was standing

Question ID : 6549781584
Status : Answered
Chosen Option : 2
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Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
options given. Select the most appropriate option for each number.

Dhritrashtra's discomfort was evident though he tried to (1) it. He said, "I don't see why
this is a matter of (2) concern. At the appropriate time, when the planets are aligned
3) , the proclamation of my eldest son, Duryodhana, as the crown prince, shall

4) " Duryodhana's face lit up on hearing this. But there were soft (5) as a wave of
uneasiness swept through the royal court. Vidura (6) up to speak, “Your Majesty, you
have (7) in the past that you are only a representative of King Pandu. (8) , when the
time comes, you should (9) Pandu's eldest son as his successor and the crown prince."
(10) had Vidura said this, than a large number of courtiers echoed his statement in
unison.

SubQuestion No : 67
Q.67 Select the most appropriate option to fill in blank no. 7.

Ans 2 1 attested
5 2. decided

J 3. proclaimed
?{ 4. trusted

Question ID : 6549781585
Status : Answered
Chosen Option : 2

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
options given. Select the most appropriate option for each number.

Dhritrashtra's discomfort was evident though he tried to (1) it. He said, "l don't see why
this is a matter of (2) concern. At the appropriate time, when the planets are aligned

3) , the proclamation of my eldest son, Duryodhana, as the crown prince, shall

(4) " Duryodhana's face lit up on hearing this. But there were soft (5) as a wave of
uneasiness swept through the royal court. Vidura (6) up to speak, "Your Majesty, you
have (7) in the past that you are only a representative of King Pandu. (8) , when the
time comes, you should (9) Pandu’s eldest son as his successor and the crown prince.”
(10) had Vidura said this, than a large number of courtiers echoed his statement in
unison.

SubQuestion No : 68
Q.68 Select the most appropriate option to fill in blank no. 8.

Ans 1 f
?('F 2. Such
2< 3. Until
o 250

Question ID : 6549781586
Status : Answered
Chosen Option : 4
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Q.69
Ans

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
options given. Select the most appropriate option for each nhumber.

Dhritrashtra's discomfort was evident though he tried to (1) it. He said, "I don't see why
this is a matter of (2) concern. At the appropriate time, when the planets are aligned

3) , the proclamation of my eldest son, Duryodhana, as the crown prince, shall

(4) " Duryodhana's face lit up on hearing this. But there were soft (5) as a wave of
uneasiness swept through the royal court. Vidura (6) up to speak, "Your Majesty, you
have (7) in the past that you are only a representative of King Pandu. (8) , when the
time comes, you should (9) Pandu’s eldest son as his successor and the crown prince.”
(10) had Vidura said this, than a large number of courtiers echoed his statement in
unison.

SubQuestion No : 69
Select the most appropriate option to fill in blank no. 9.

, 1. coronate

?{F 2. collate
?{ 3. celebrate

?{F 4. collaborate

Question ID : 6549781587
Status : Not Answered
Chosen Option : --

Q.70
Ans

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
options given. Select the most appropriate option for each number.

Dhritrashtra’s discomfort was evident though he tried to (1) it. He said, "l don't see why
this is a matter of (2) concern. At the appropriate time, when the planets are aligned
(3)______, the proclamation of my eldest son, Duryodhana, as the crown prince, shall

(4) " Duryodhana's face lit up on hearing this. But there were soft (5) as a wave of
uneasiness swept through the royal court. Vidura (6) up to speak, "Your Majesty, you
have (7) in the past that you are only a representative of King Pandu. (8) , when the
time comes, you should (9) Pandu’s eldest son as his successor and the crown prince.”
(10) had Vidura said this, than a large number of courtiers echoed his statement in
unison.

SubQuestion No : 70
Select the most appropriate option to fill in blank no. 10.

?(: 1. Scarcely
f 2. No sooner
?{ 3. Barely
?( 4. Hardly

Question ID : 6549781588
Status : Answered
Chosen Option : 4
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Q.71 Identify the segment in the sentence that contains a grammatical error.

| do not like vegetables, or do I like fruits.
Ans X" 1 |ike vegetables

XZ.Idonot
«3.ordol

X 4. like fruits

Question ID : 6549781519
Status : Answered
Chosen Option : 3

Q.72 Select the most appropriate synonym of the given word.

IMPROMPTU
Ans " 1 rehearsed

x 2. deliberate
X 3. calculated

« 4. spontaneous

Question ID : 6549781556
Status : Answered
Chosen Option : 2

Q.73 Select the correct passive form of the given sentence.

Circumstances forced him to accept the menial job.

Ans X 1. He was being forced by the circumstances to accept the menial job.
« 2. He was forced by circumstances to accept the menial job.
X 3. He is forced by circumstances to accept the menial job.

X 4. He will be forced by circumstances to accept the menial job.

Question ID : 6549781532
Status : Answered
Chosen Option : 2

Q.74 Given below are four sentences in jumbled order. Pick the option that gives their correct

order.

A. Ultimately, cotton was exported to Britain as a raw material for their textile industries.

B. This was due to the availability of good quality cotton from India.
C. The British were attracted to the cotton belts of India.
D. Textile industries in Manchester and Liverpool greatly flourished.

Ans  of 1 cADB
/< 2.DCBA
7< 3.CBDA
/< 4.BDAC

Question ID : 6549781594
Status : Answered
Chosen Option : 3
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Q.75 Identify the segment in the sentence that contains a grammatical error.

She said that it was 4 o'clock on her watch when she entered.
Ans X" 1 when she entered

X 2. She said that
X 3.itwas 4 o'clock
« 4. on her watch

Question ID : 6549781526
Status : Answered
Chosen Option : 4

Q.76 Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute it, select ‘No substitution’.

They got at touch with Miss Adams much later.
Ans X" 1. No substitution

X 2. got to touch
X 3. are getting a touch

« 4. got in touch

Question ID : 6549781601
Status : Answered
Chosen Option : 4

Q.77 Given below are four sentences in jumbled order. Pick the option that gives their correct
order.

A. She had never seen the like of it before.
B. But her own earnings had been in coppers and nickels.

C. She peered closely at the big currency note.
D. She only recognised the fives and tens she had seen in other people’s hands.

Ans o 1 CcADB
< 2.DACB
/< 3.CBAD
/< 4.DABC

Question ID : 6549781598
Status : Answered
Chosen Option: 1

Q.78 Select the correct active form of the given sentence.

An online order has been placed by me today.

Ans X" 1. |placed an online order today.
« 2.1 have placed an online order today.
#% 3.1am placing an online order today.

X 4.1 will place an online order today.

Question ID : 6549781527
Status : Answered
Chosen Option : 2
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Q.79 Select the correct indirect form of the given sentence.

She said to her brother, “Who do you think will win the best all-rounder award this year?"
Ans X 1. She asked to her brother who he thought will win the best all-rounder award that
year.
x 2. She asked her brother who did he thought would win the best all-rounder award that
year.

( 3. She asked her brother who he thought would win the best all-rounder award that
year.

X 4. She asked her brother who did he think will win the best all-rounder award this year.

Question ID : 6549781544
Status : Answered
Chosen Option : 3

Q.80 Select the correct direct form of the given sentence.

The air hostess said that the passengers must wear face masks during the flight.

Ans X 1. The air hostess said, "Passengers are wearing face masks during the flight."
x 2. The air hostess says, “Passengers should wear face masks during the flight."
« 3. The air hostess said, "Passengers must wear face masks during the flight."

x 4. The air hostess said, "Passengers wore face masks during the flight."

Question ID : 6549781537
Status : Answered
Chosen Option : 3

Q.81 Fill in the blank with the most appropriate word.

Jane Wilkinson was a
Ans ( 1. talented

x 2. concrete

x 3. damaged

X 4. faint

young American actress.

Question ID : 6549781547
Status : Answered
Chosen Option : 1
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Q.82 Given below are six sentences, out of which sentences A and F are in the correct position.
Sentences B, C, D and E are in a jumbled order. Select the option that gives the correct
order.

A. When | woke up in my tent, | realised | was all alone.

B. | asked him to be ushered in.

C. My chest hurt badly from the hard blow.

D. It was getting dark outside when my guard announced a visitor.
E. | applied a balm to my wounds which eased the pain slightly.

F. My heart thumped in expectation of the news of the war.

Ans " 1. ABCEDF
o 2. AcEDBF
/< 3. ADCEBF

5 4. AEDCBF

Question ID : 6549781592
Status : Answered
Chosen Option : 2

Q.83 Select the most appropriate ANTONYM of the given word.

DERELICT
Ans ?(: 1. regardless

25 2. negligent
?{F 3. vagrant

{ 4. careful

Question ID : 6549781561
Status : Answered
Chosen Option : 4

Q.84 Given below are six sentences, out of which sentences A and F are in the correct position.
Sentences B, C, D and E are in a jumbled order. Select the option that gives the correct
order.

A. Amina joined a two-year course at a local coaching institute.

B. However, she decided to opt out of the course at the end of one year.

C. When she asked for the refund of the fee for one year, she was denied.

D. This was because of the poor quality of teaching at the institute.

E. At the time of joining, she paid a fees of Rs. 60000 as lump sum for the entire course.
F. Amina filed a case in the district consumer court.

Ans  of 1 AEBDCF
< 2. ADEBCF
< 3. ABCDEF

5 4. ACDEBF

Question ID : 6549781591
Status : Answered
Chosen Option: 1

Page-75




Q.85 Identify the segment in the sentence that contains a grammatical error.

The atmosphere become tensed as heated words were exchanged.
Ans ( 1. become tensed

?{ 2. The atmosphere
2< 3. were exchanged

?(: 4. as heated words

Question ID : 6549781518
Status : Answered
Chosen Option : 4

Comprehension:
Read the given passage and answer the questions that follow.

Design has manifold applications and usages ranging from the most obvious or surface-level
usages to the subtler and indirect usages that have far-reaching and deeper impact. The
significance of design lies in its ability to fulfil these demands, whether aesthetic, teleological
or semiotic. By aesthetics, it is broadly understood as its sensory and beauty values, i.e.
concerned with the judgment of visual taste, here it is meant as the sensory appreciation of
graphic design. While by functionality is meant the practical aspects of a given graphic design
such as usability, communicability, readability and making an impact. Its efficiency lies in its
ability to do so. Design has function as well as some purpose. In theoretical terms the ability
of design to fulfil the function or purpose is called ‘teleology’ of design. Apart from the above
two, there is one more aspect of design called ‘content’ or meaning of design that can be
broadly called as semiotic value of design. A simple discussion might elaborate this case.
Food has taste that caters to our taste buds which is a sensory quality of food. Sometimes
the colour of food is attractive therefore we like it and probably other times we get attracted
towards it because it is presented in an appealing manner. Aroma, taste and decoration or
garnishing cater to our sensory expectations. Food also has nutritional value that is
concerned with supplying energy to the body that helps in its overall physical growth and
maintenance of general health and work efficiency and at times such food may not be visually
attractive. This is the teleological significance. Now if the food is cooked by a mother, sister
or wife, then it has a special meaning and a highly personal significance attached to it. It may
not be very nutritious or properly garnished, still the food will have its own unique significance
which is the semiotic value of the food.

SubQuestion No : 86
Q.86 What is the passage mainly about?

Ans ?ﬂ 1. Functional aspect of design
?{F 2. Aesthetic function of design
?{ 3. How to make food appealing

« 4. Design and its varied usages

Question ID : 6549781621
Status : Answered
Chosen Option : 4
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Comprehension:
Read the given passage and answer the questions that follow.

Design has manifold applications and usages ranging from the most obvious or surface-level
usages to the subtler and indirect usages that have far-reaching and deeper impact. The
significance of design lies in its ability to fulfil these demands, whether aesthetic, teleological
or semiotic. By aesthetics, it is broadly understood as its sensory and beauty values, i.e.
concerned with the judgment of visual taste, here it is meant as the sensory appreciation of
graphic design. While by functionality is meant the practical aspects of a given graphic design
such as usability, communicability, readability and making an impact. Its efficiency lies in its
ability to do so. Design has function as well as some purpose. In theoretical terms the ability
of design to fulfil the function or purpose is called 'teleology’ of design. Apart from the above
two, there is one more aspect of design called ‘content’ or meaning of design that can be
broadly called as semiotic value of design. A simple discussion might elaborate this case.
Food has taste that caters to our taste buds which is a sensory quality of food. Sometimes
the colour of food is attractive therefore we like it and probably other times we get attracted
towards it because it is presented in an appealing manner. Aroma, taste and decoration or
garnishing cater to our sensory expectations. Food also has nutritional value that is
concerned with supplying energy to the body that helps in its overall physical growth and
maintenance of general health and work efficiency and at times such food may not be visually
attractive. This is the teleological significance. Now if the food is cooked by a mother, sister
or wife, then it has a special meaning and a highly personal significance attached to it. It may
not be very nutritious or properly garnished, still the food will have its own unique significance
which is the semiotic value of the food.

SubQuestion No : 87

Q.87 The ability of a design to fulfil the purpose is called:

Ans

25 1. graphic appeal
?{ 2. semiotic value

( 3. teleology

?{F 4. visual taste

Question ID : 6549781617
Status : Answered
Chosen Option : 3
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Comprehension:
Read the given passage and answer the questions that follow.

Design has manifold applications and usages ranging from the most obvious or surface-level
usages to the subtler and indirect usages that have far-reaching and deeper impact. The
significance of design lies in its ability to fulfil these demands, whether aesthetic, teleological
or semiotic. By aesthetics, it is broadly understood as its sensory and beauty values, i.e.
concerned with the judgment of visual taste, here it is meant as the sensory appreciation of
graphic design. While by functionality is meant the practical aspects of a given graphic design
such as usability, communicability, readability and making an impact. Its efficiency lies in its
ability to do so. Design has function as well as some purpose. In theoretical terms the ability
of design to fulfil the function or purpose is called ‘teleology' of design. Apart from the above
two, there is one more aspect of design called ‘content’ or meaning of design that can be
broadly called as semiotic value of design. A simple discussion might elaborate this case.
Food has taste that caters to our taste buds which is a sensory quality of food. Sometimes
the colour of food is attractive therefore we like it and probably other times we get attracted
towards it because it is presented in an appealing manner. Aroma, taste and decoration or
garnishing cater to our sensory expectations. Food also has nutritional value that is
concerned with supplying energy to the body that helps in its overall physical growth and
maintenance of general health and work efficiency and at times such food may not be visually
attractive. This is the teleological significance. Now if the food is cooked by a mother, sister
or wife, then it has a special meaning and a highly personal significance attached to it. It may
not be very nutritious or properly garnished, still the food will have its own unique significance
which is the semiotic value of the food.

SubQuestion No : 88

Q.88 The practical aspects of a graphic design DO NOT take into account:

Ans

o 1. probability
KF 2. readability
KF 3. usability

KF 4. communicability

Question ID : 6549781618
Status : Answered
Chosen Option : 1
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Comprehension:
Read the given passage and answer the questions that follow.

Design has manifold applications and usages ranging from the most obvious or surface-level
usages to the subtler and indirect usages that have far-reaching and deeper impact. The
significance of design lies in its ability to fulfil these demands, whether aesthetic, teleological
or semiotic. By aesthetics, it is broadly understood as its sensory and beauty values, i.e.
concerned with the judgment of visual taste, here it is meant as the sensory appreciation of
graphic design. While by functionality is meant the practical aspects of a given graphic design
such as usability, communicability, readability and making an impact. Its efficiency lies in its
ability to do so. Design has function as well as some purpose. In theoretical terms the ability
of design to fulfil the function or purpose is called ‘teleology’ of design. Apart from the above
two, there is one more aspect of design called ‘content’ or meaning of design that can be
broadly called as semiotic value of design. A simple discussion might elaborate this case.
Food has taste that caters to our taste buds which is a sensory quality of food. Sometimes
the colour of food is attractive therefore we like it and probably other times we get attracted
towards it because it is presented in an appealing manner. Aroma, taste and decoration or
garnishing cater to our sensory expectations. Food also has nutritional value that is
concerned with supplying energy to the body that helps in its overall physical growth and
maintenance of general health and work efficiency and at times such food may not be visually
attractive. This is the teleological significance. Now if the food is cooked by a mother, sister
or wife, then it has a special meaning and a highly personal significance attached to it. It may
not be very nutritious or properly garnished, still the food will have its own unique significance
which is the semiotic value of the food.

SubQuestion No : 89

Q.89 Aesthetics is mainly concerned with:

Ans

?(: 1. purpose of creation
5 2. usefulness of the product

« 3. sensory appeal

75 4. relevance of content

Question ID : 6549781619

Status : Answered

Chosen Option : 3
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Comprehension:
Read the given passage and answer the questions that follow.

Design has manifold applications and usages ranging from the most obvious or surface-level
usages to the subtler and indirect usages that have far-reaching and deeper impact. The
significance of design lies in its ability to fulfil these demands, whether aesthetic, teleological
or semiotic. By aesthetics, it is broadly understood as its sensory and beauty values, i.e.
concerned with the judgment of visual taste, here it is meant as the sensory appreciation of
graphic design. While by functionality is meant the practical aspects of a given graphic design
such as usability, communicability, readability and making an impact. Its efficiency lies in its
ability to do so. Design has function as well as some purpose. In theoretical terms the ability
of design to fulfil the function or purpose is called ‘teleology’ of design. Apart from the above
two, there is one more aspect of design called ‘content’ or meaning of design that can be
broadly called as semiotic value of design. A simple discussion might elaborate this case.
Food has taste that caters to our taste buds which is a sensory quality of food. Sometimes
the colour of food is attractive therefore we like it and probably other times we get attracted
towards it because it is presented in an appealing manner. Aroma, taste and decoration or
garnishing cater to our sensory expectations. Food also has nutritional value that is
concerned with supplying energy to the body that helps in its overall physical growth and
maintenance of general health and work efficiency and at times such food may not be visually
attractive. This is the teleological significance. Now if the food is cooked by a mother, sister
or wife, then it has a special meaning and a highly personal significance attached to it. It may
not be very nutritious or properly garnished, still the food will have its own unique significance
which is the semiotic value of the food.

SubQuestion No : 90

Q.90 Which of the following aspects of a dish does NOT have a sensory appeal?

Ans

J 1. Nutrition

?{ 2. Presentation
< 3.Taste

?{F 4. Aroma

Question ID : 6549781620
Status : Answered
Chosen Option : 1

Page - 80




Comprehension:

Read the given passage and answer the questions that follow.

There are five basic features of services. These features distinguish them from goods. The
first is that services are intangible. They are experiential in nature. One cannot taste a doctor's
treatment, or touch entertainment. One can only experience it. An important implication of
this is that quality of the offer can often not be determined before consumption or before
purchase. It is, therefore, important for the service providers that they consciously work on
creating a desired service so that the customer undergoes a favourable experience.

The second important characteristic of services is inconsistency. Since there is no standard
tangible product, services have to be performed exclusively each time. Different customers
have different demands and expectations. Service providers need to have an opportunity to
alter their offer to closely meet the requirements of the customers.

Another important characteristic of services is the simultaneous activity of production and
consumption being performed. This makes the production and consumption of services
inseparable. While we can manufacture a car today and sell it after, say, a month; this is often
not possible with services that have to be consumed as and when they are produced. For
example, the services of a teacher, doctor or lawyer. Service providers may design a
substitute for the person by using appropriate technology but the interaction with the
customer remains a key feature of services. Automated Teller Machines (ATMs) may replace
the banking clerk for the front office activities like cash withdrawal and cheque deposit. But,
at the same time, the presence of the customer, is required and his/her interaction with the
process has to be managed.

Services have little or no tangible components and, therefore, cannot be stored for a future
use. That is, services are perishable and providers can, at best, store some associated goods
but not the service itself. This means that the demand and supply needs to be managed as
the service has to be performed as and when the customer asks for it. They cannot be
performed earlier to be consumed at a later date. For example, a railway ticket can be stored
but the railway journey will be experienced by a traveller only when the railways provide it.

SubQuestion No : 91

Q.91 For a pleasant experience of a service, the provider should:

Ans

{ 1. give what the consumer desires
?{F 2. make the service available before purchase
KF 3. create a service which is profitable

KF 4. provide the service without customer demand

Question ID : 6549781606
Status : Answered
Chosen Option : 1
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Comprehension:
Read the given passage and answer the questions that follow.

There are five basic features of services. These features distinguish them from goods. The
first is that services are intangible. They are experiential in nature. One cannot taste a doctor's
treatment, or touch entertainment. One can only experience it. An important implication of
this is that quality of the offer can often not be determined before consumption or before
purchase. It is, therefore, important for the service providers that they consciously work on
creating a desired service so that the customer undergoes a favourable experience.

The second important characteristic of services is inconsistency. Since there is no standard
tangible product, services have to be performed exclusively each time. Different customers
have different demands and expectations. Service providers need to have an opportunity to
alter their offer to closely meet the requirements of the customers.

Another important characteristic of services is the simultaneous activity of production and
consumption being performed. This makes the production and consumption of services
inseparable. While we can manufacture a car today and sell it after, say, a month; this is often
not possible with services that have to be consumed as and when they are produced. For
example, the services of a teacher, doctor or lawyer. Service providers may design a
substitute for the person by using appropriate technology but the interaction with the
customer remains a key feature of services. Automated Teller Machines (ATMs) may replace
the banking clerk for the front office activities like cash withdrawal and cheque deposit. But,
at the same time, the presence of the customer, is required and his/her interaction with the
process has to be managed.

Services have little or no tangible components and, therefore, cannot be stored for a future
use. That is, services are perishable and providers can, at best, store some associated goods
but not the service itself. This means that the demand and supply needs to be managed as
the service has to be performed as and when the customer asks for it. They cannot be
performed earlier to be consumed at a later date. For example, a railway ticket can be stored
but the railway journey will be experienced by a traveller only when the railways provide it.

SubQuestion No : 92

Q.92 Entertainment is an intangible service because it can only be:

Ans

25 1. stored
KF 2. tasted

f 3. experienced
KF 4. touched

Question ID : 6549781605
Status : Answered
Chosen Option : 3
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Comprehension:
Read the given passage and answer the questions that follow.

There are five basic features of services. These features distinguish them from goods. The
first is that services are intangible. They are experiential in nature. One cannot taste a doctor's
treatment, or touch entertainment. One can only experience it. An important implication of
this is that quality of the offer can often not be determined before consumption or before
purchase. It is, therefore, important for the service providers that they consciously work on
creating a desired service so that the customer undergoes a favourable experience.

The second important characteristic of services is inconsistency. Since there is no standard
tangible product, services have to be performed exclusively each time. Different customers
have different demands and expectations. Service providers need to have an opportunity to
alter their offer to closely meet the requirements of the customers.

Another important characteristic of services is the simultaneous activity of production and
consumption being performed. This makes the production and consumption of services
inseparable. While we can manufacture a car today and sell it after, say, a month; this is often
not possible with services that have to be consumed as and when they are produced. For
example, the services of a teacher, doctor or lawyer. Service providers may design a
substitute for the person by using appropriate technology but the interaction with the
customer remains a key feature of services. Automated Teller Machines (ATMs) may replace
the banking clerk for the front office activities like cash withdrawal and cheque deposit. But,
at the same time, the presence of the customer, is required and his/her interaction with the
process has to be managed.

Services have little or no tangible components and, therefore, cannot be stored for a future
use. That is, services are perishable and providers can, at best, store some associated goods
but not the service itself. This means that the demand and supply needs to be managed as
the service has to be performed as and when the customer asks for it. They cannot be
performed earlier to be consumed at a later date. For example, a railway ticket can be stored
but the railway journey will be experienced by a traveller only when the railways provide it.

SubQuestion No : 93

Q.93 What is the key feature of any service?

Ans

?{ 1. It is non-perishable
J 2. Interaction with the consumer
?{ 3. Ability to be stored for future use

25 4. Automation of service

Question ID : 6549781608

Status : Answered

Chosen Option : 2
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Comprehension:

Read the given passage and answer the questions that follow.

There are five basic features of services. These features distinguish them from goods. The
first is that services are intangible. They are experiential in nature. One cannot taste a doctor's
treatment, or touch entertainment. One can only experience it. An important implication of
this is that quality of the offer can often not be determined before consumption or before
purchase. It is, therefore, important for the service providers that they consciously work on
creating a desired service so that the customer undergoes a favourable experience.

The second important characteristic of services is inconsistency. Since there is no standard
tangible product, services have to be performed exclusively each time. Different customers
have different demands and expectations. Service providers need to have an opportunity to
alter their offer to closely meet the requirements of the customers.

Another important characteristic of services is the simultaneous activity of production and
consumption being performed. This makes the production and consumption of services
inseparable. While we can manufacture a car today and sell it after, say, a month; this is often
not possible with services that have to be consumed as and when they are produced. For
example, the services of a teacher, doctor or lawyer. Service providers may design a
substitute for the person by using appropriate technology but the interaction with the
customer remains a key feature of services. Automated Teller Machines (ATMs) may replace
the banking clerk for the front office activities like cash withdrawal and cheque deposit. But,
at the same time, the presence of the customer, is required and his/her interaction with the
process has to be managed.

Services have little or no tangible components and, therefore, cannot be stored for a future
use. That is, services are perishable and providers can, at best, store some associated goods
but not the service itself. This means that the demand and supply needs to be managed as
the service has to be performed as and when the customer asks for it. They cannot be
performed earlier to be consumed at a later date. For example, a railway ticket can be stored
but the railway journey will be experienced by a traveller only when the railways provide it.

SubQuestion No : 94

Q.94 Which of the following is NOT a service provider?

Ans

< 1.Bank

?{F 2. Lawyer

o 3. Car

?{F 4. Teacher

Question ID : 6549781609
Status : Answered
Chosen Option : 3
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Comprehension:

Read the given passage and answer the questions that follow.

There are five basic features of services. These features distinguish them from goods. The
first is that services are intangible. They are experiential in nature. One cannot taste a doctor's
treatment, or touch entertainment. One can only experience it. An important implication of
this is that quality of the offer can often not be determined before consumption or before
purchase. It is, therefore, important for the service providers that they consciously work on
creating a desired service so that the customer undergoes a favourable experience.

The second important characteristic of services is inconsistency. Since there is no standard
tangible product, services have to be performed exclusively each time. Different customers
have different demands and expectations. Service providers need to have an opportunity to
alter their offer to closely meet the requirements of the customers.

Another important characteristic of services is the simultaneous activity of production and
consumption being performed. This makes the production and consumption of services
inseparable. While we can manufacture a car today and sell it after, say, a month; this is often
not possible with services that have to be consumed as and when they are produced. For
example, the services of a teacher, doctor or lawyer. Service providers may design a
substitute for the person by using appropriate technology but the interaction with the
customer remains a key feature of services. Automated Teller Machines (ATMs) may replace
the banking clerk for the front office activities like cash withdrawal and cheque deposit. But,
at the same time, the presence of the customer, is required and his/her interaction with the
process has to be managed.

Services have little or no tangible components and, therefore, cannot be stored for a future
use. That is, services are perishable and providers can, at best, store some associated goods
but not the service itself. This means that the demand and supply needs to be managed as
the service has to be performed as and when the customer asks for it. They cannot be
performed earlier to be consumed at a later date. For example, a railway ticket can be stored
but the railway journey will be experienced by a traveller only when the railways provide it.

SubQuestion No : 95

Q.95 Which of the following statements is NOT true?

Ans

/5 1. Services are distinct from goods.
KF 2. Production and consumption of services are inseparable.
{ 3. Quality of a service can be determined before consumption.

KF 4. Services tend to be inconsistent in nature.

Question ID : 6549781607
Status : Answered
Chosen Option : 3
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Comprehension:
Read the given passage and answer the questions that follow.

A porcelain Chinese statue of Emperor Kung was being auctioned off to a motley crowd and
not-so-serious bidders. In order to grab the bidders' attention, the auctioneer presented a fact
sheet about the history of the statue. It said that the statue was brought from a place called
Ha Li Chuan in China.

The narrator of the story, seated amidst the bidders, was intrigued by the statue's history. He
tried to delve deeper into its history and found that the statue was bought by Sir Alexander
Heathcote, a diplomatic person of great acclaim. He also happened to be a very fastidious
person. He would have breakfast at the same time every morning, with the same ingredients
in the exact same quantity, reach his office desk at the Foreign Office at exactly 8:59 AM and
leave for home at exactly 6 in the evening.

In Peking, Sir Alexander once visited the countryside and was delighted to see the beautiful
Chinese arts. The craftsman in one of the shops, upon realising his deep interest in Chinese
art, showed him a porcelain Chinese statue of Emperor Kung which had been in his family for
seven generations. Sir Alexander was sure that the statue must have been made by Pen Q and
even calculated that it must have been made during the turn of the 15th century. The only flaw
was that the base of the statue was missing.

Alexander Heathcote could not contain his heart's desire and said, "How | wish the piece was
mine". Upon seeing his interest, the craftsman, with a heavy heart, fixed a base of his choice
on the statue and gifted it to him. It was the Chinese custom to oblige if an honoured guest
requested something. To pay the craftsman back, Alexander constructed a beautiful house on
the hills for the man to settle down. The craftsman accepted it only after knowing that the
Empress herself sanctioned the gift.

Sir Alexander was so fond of the statue that he wrote in his will that it must be passed on
generation to generation and mustn't be sold until and unless the family’s reputation was at
stake. The statue, now regarded as a family heirloom, was passed on to his great-great
grandson Alex Heathcote who got into a financial crisis and decided to sell it.

Alex brought the statue to the Sotheby's auction. The head of the department was sure with a
glance that it was the work of Pen Q. But later on, it was discovered that the statue was a fake
copy of the original one. But the base which the craftsman had gifted so casually turned out
to be a genuine piece of art. The narrator bought the statue for seven hundred and twenty
guineas and an American gentleman bought the base for a whopping twenty-two thousand
guineas.

SubQuestion No : 96
Q.96 The craftsman parted with the statue with a heavy heart because:

Ans ?{ 1. he was in a financial crisis
75 2.he had carved it himself
f 3. it had been in the family for seven generations

?{— 4. it was the statue of his ancestor

Question ID : 6549781613
Status : Answered
Chosen Option : 3
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Comprehension:

Read the given passage and answer the questions that follow.

A porcelain Chinese statue of Emperor Kung was being auctioned off to a motley crowd and
not-so-serious bidders. In order to grab the bidders' attention, the auctioneer presented a fact
sheet about the history of the statue. It said that the statue was brought from a place called
Ha Li Chuan in China.

The narrator of the story, seated amidst the bidders, was intrigued by the statue's history. He
tried to delve deeper into its history and found that the statue was bought by Sir Alexander
Heathcote, a diplomatic person of great acclaim. He also happened to be a very fastidious
person. He would have breakfast at the same time every morning, with the same ingredients
in the exact same quantity, reach his office desk at the Foreign Office at exactly 8:59 AM and
leave for home at exactly 6 in the evening.

In Peking, Sir Alexander once visited the countryside and was delighted to see the beautiful
Chinese arts. The craftsman in one of the shops, upon realising his deep interest in Chinese
art, showed him a porcelain Chinese statue of Emperor Kung which had been in his family for
seven generations. Sir Alexander was sure that the statue must have been made by Pen Q and
even calculated that it must have been made during the turn of the 15th century. The only flaw
was that the base of the statue was missing.

Alexander Heathcote could not contain his heart's desire and said, "How | wish the piece was
mine". Upon seeing his interest, the craftsman, with a heavy heart, fixed a base of his choice
on the statue and gifted it to him. It was the Chinese custom to oblige if an honoured guest
requested something. To pay the craftsman back, Alexander constructed a beautiful house on
the hills for the man to settle down. The craftsman accepted it only after knowing that the
Empress herself sanctioned the gift.

Sir Alexander was so fond of the statue that he wrote in his will that it must be passed on
generation to generation and mustn't be sold until and unless the family's reputation was at
stake. The statue, now regarded as a family heirloom, was passed on to his great-great
grandson Alex Heathcote who got into a financial crisis and decided to sell it.

Alex brought the statue to the Sotheby's auction. The head of the department was sure with a
glance that it was the work of Pen Q. But later on, it was discovered that the statue was a fake
copy of the original one. But the base which the craftsman had gifted so casually turned out
to be a genuine piece of art. The narrator bought the statue for seven hundred and twenty
guineas and an American gentleman bought the base for a whopping twenty-two thousand
guineas.

SubQuestion No : 97
Q.97 Which of the following statements is NOT a fact about the statue?

Ans K 1. It had originally been acquired by Sir Alexander Heathcote in China.
?{F 2. It was brought from Ha Li Chuan.
( 3. It was a genuine piece of art.

KF 4. It was made of porcelain.

Question ID : 6549781612
Status : Answered
Chosen Option : 4
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Comprehension:
Read the given passage and answer the questions that follow.

A porcelain Chinese statue of Emperor Kung was being auctioned off to a motley crowd and
not-so-serious bidders. In order to grab the bidders' attention, the auctioneer presented a fact
sheet about the history of the statue. It said that the statue was brought from a place called
Ha Li Chuan in China.

The narrator of the story, seated amidst the bidders, was intrigued by the statue's history. He
tried to delve deeper into its history and found that the statue was bought by Sir Alexander
Heathcote, a diplomatic person of great acclaim. He also happened to be a very fastidious
person. He would have breakfast at the same time every morning, with the same ingredients
in the exact same quantity, reach his office desk at the Foreign Office at exactly 8:59 AM and
leave for home at exactly 6 in the evening.

In Peking, Sir Alexander once visited the countryside and was delighted to see the beautiful
Chinese arts. The craftsman in one of the shops, upon realising his deep interest in Chinese
art, showed him a porcelain Chinese statue of Emperor Kung which had been in his family for
seven generations. Sir Alexander was sure that the statue must have been made by Pen Q and
even calculated that it must have been made during the turn of the 15th century. The only flaw
was that the base of the statue was missing.

Alexander Heathcote could not contain his heart's desire and said, "How | wish the piece was
mine". Upon seeing his interest, the craftsman, with a heavy heart, fixed a base of his choice
on the statue and gifted it to him. It was the Chinese custom to oblige if an honoured guest
requested something. To pay the craftsman back, Alexander constructed a beautiful house on
the hills for the man to settle down. The craftsman accepted it only after knowing that the
Empress herself sanctioned the gift.

Sir Alexander was so fond of the statue that he wrote in his will that it must be passed on
generation to generation and mustn't be sold until and unless the family's reputation was at
stake. The statue, now regarded as a family heirloom, was passed on to his great-great
grandson Alex Heathcote who got into a financial crisis and decided to sell it.

Alex brought the statue to the Sotheby's auction. The head of the department was sure with a
glance that it was the work of Pen Q. But later on, it was discovered that the statue was a fake
copy of the original one. But the base which the craftsman had gifted so casually turned out
to be a genuine piece of art. The narrator bought the statue for seven hundred and twenty
guineas and an American gentleman bought the base for a whopping twenty-two thousand
guineas.

SubQuestion No : 98

Q.98 The statue being auctioned was that of:

Ans

/5 1. Heathcote
KF 2.PenQ

f 3. Emperor Kung

KF 4. the Empress

Question ID : 6549781611
Status : Answered
Chosen Option : 3
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Comprehension:
Read the given passage and answer the questions that follow.

A porcelain Chinese statue of Emperor Kung was being auctioned off to a motley crowd and
not-so-serious bidders. In order to grab the bidders' attention, the auctioneer presented a fact
sheet about the history of the statue. It said that the statue was brought from a place called
Ha Li Chuan in China.

The narrator of the story, seated amidst the bidders, was intrigued by the statue's history. He
tried to delve deeper into its history and found that the statue was bought by Sir Alexander
Heathcote, a diplomatic person of great acclaim. He also happened to be a very fastidious
person. He would have breakfast at the same time every morning, with the same ingredients
in the exact same quantity, reach his office desk at the Foreign Office at exactly 8:59 AM and
leave for home at exactly 6 in the evening.

In Peking, Sir Alexander once visited the countryside and was delighted to see the beautiful
Chinese arts. The craftsman in one of the shops, upon realising his deep interest in Chinese
art, showed him a porcelain Chinese statue of Emperor Kung which had been in his family for
seven generations. Sir Alexander was sure that the statue must have been made by Pen Q and
even calculated that it must have been made during the turn of the 15th century. The only flaw
was that the base of the statue was missing.

Alexander Heathcote could not contain his heart's desire and said, "How | wish the piece was
mine". Upon seeing his interest, the craftsman, with a heavy heart, fixed a base of his choice
on the statue and gifted it to him. It was the Chinese custom to oblige if an honoured guest
requested something. To pay the craftsman back, Alexander constructed a beautiful house on
the hills for the man to settle down. The craftsman accepted it only after knowing that the
Empress herself sanctioned the gift.

Sir Alexander was so fond of the statue that he wrote in his will that it must be passed on
generation to generation and mustn't be sold until and unless the family's reputation was at
stake. The statue, now regarded as a family heirloom, was passed on to his great-great
grandson Alex Heathcote who got into a financial crisis and decided to sell it.

Alex brought the statue to the Sotheby's auction. The head of the department was sure with a
glance that it was the work of Pen Q. But later on, it was discovered that the statue was a fake
copy of the original one. But the base which the craftsman had gifted so casually turned out
to be a genuine piece of art. The narrator bought the statue for seven hundred and twenty
guineas and an American gentleman bought the base for a whopping twenty-two thousand
guineas.

SubQuestion No : 99

Q.99 The words ‘motley crowd' means:

Ans

?{ 1. an aristocratic assembly
f 2. an incongruous crowd
?{ 3. a group of art lovers

?{— 4. a gathering of serious bidders

Question ID : 6549781614
Status : Answered
Chosen Option : 2
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Comprehension:

Read the given passage and answer the questions that follow.

A porcelain Chinese statue of Emperor Kung was being auctioned off to a motley crowd and
not-so-serious bidders. In order to grab the bidders' attention, the auctioneer presented a fact
sheet about the history of the statue. It said that the statue was brought from a place called
Ha Li Chuan in China.

The narrator of the story, seated amidst the bidders, was intrigued by the statue's history. He
tried to delve deeper into its history and found that the statue was bought by Sir Alexander
Heathcote, a diplomatic person of great acclaim. He also happened to be a very fastidious
person. He would have breakfast at the same time every morning, with the same ingredients
in the exact same quantity, reach his office desk at the Foreign Office at exactly 8:59 AM and
leave for home at exactly 6 in the evening.

In Peking, Sir Alexander once visited the countryside and was delighted to see the beautiful
Chinese arts. The craftsman in one of the shops, upon realising his deep interest in Chinese
art, showed him a porcelain Chinese statue of Emperor Kung which had been in his family for
seven generations. Sir Alexander was sure that the statue must have been made by Pen Q and
even calculated that it must have been made during the turn of the 15th century. The only flaw
was that the base of the statue was missing.

Alexander Heathcote could not contain his heart's desire and said, "How | wish the piece was
mine". Upon seeing his interest, the craftsman, with a heavy heart, fixed a base of his choice
on the statue and gifted it to him. It was the Chinese custom to oblige if an honoured guest
requested something. To pay the craftsman back, Alexander constructed a beautiful house on
the hills for the man to settle down. The craftsman accepted it only after knowing that the
Empress herself sanctioned the gift.

Sir Alexander was so fond of the statue that he wrote in his will that it must be passed on
generation to generation and mustn't be sold until and unless the family's reputation was at
stake. The statue, now regarded as a family heirloom, was passed on to his great-great
grandson Alex Heathcote who got into a financial crisis and decided to sell it.

Alex brought the statue to the Sotheby's auction. The head of the department was sure with a
glance that it was the work of Pen Q. But later on, it was discovered that the statue was a fake
copy of the original one. But the base which the craftsman had gifted so casually turned out
to be a genuine piece of art. The narrator bought the statue for seven hundred and twenty
guineas and an American gentleman bought the base for a whopping twenty-two thousand
guineas.

SubQuestion No : 100

Q.100 What is the central theme of the story revealed in the climax?

Ans

KF 1. The love of art
75 2. Desire to own exotics
KF 3. Honouring age-old traditions

J 4. Appearance versus reality

Question ID : 6549781615
Status : Answered
Chosen Option: 1
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